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2.

A particle shows distance-time curve as
shown in the figure. The maximum
instantanecus velocity of the particle is
around the point
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ﬁ R
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Which of the following graphs correctly
represents the variation of ‘@ on the
Earth ?
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A cup of tea cools from 65-5°C to 62-5°C in
1 minute in a room at 22:5°C. How long
will it take to cool from 46:5°C to 40-5°C
in the same room ?

(A) 4 minutes

(B) 2 minutes
{C) 1 minute

(D) 3 minutes

The dimensions of the ratio of magnetic
flux (¢) and permeability (p) are

MO L T0 AY
MO L3 10 AY)
MO LT AT
[MO L2 TO A1] .

(A)
(B)
(C)

(D

A mass ‘m’ on the surface of the Earth is
shifted to a target equal to the radius of
the Earth. If ‘R’ is the radius and ‘M’ is
the mass of the Earth, then work done in
this process is

(A) ngR (B) mgR
(©) 2mgR D) «“‘%R

3.

22:5°C PDTRRTODSE BReFBODE), 20w
8% B 65.5°C V0T 62-5°C 7t 1 0RTE),
Sozprogs., wde pemodd) 46.5°C Qo
40.5°C 11 Zomonwd oF, Iodb
IncoBedgd ?

(A) 4 TN

(B) 2 QTN

(€C) 12wz

(D) 3 RNeb

Fo03ecd T, (9). DB WHI (0) 1Y
OTIWIoIRTOTY AT,
MO L TO AT

MO 13 0 ATy

MO LiT! AL

(A)
(B)
©)
™ m™M°L?TAh

gdeavad oz w3
St weaeh S8 A

ainleInld o Vin] noon %@aaéﬁﬁmhtﬁ !
FedooDH %, B T Bed M Shg,
84 §,030000Q SN FORE Taswew
Slilevriad

A) —ng (B) mgR

(©) * 2 mgR (D) -mf—R
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First overtone frequency of a closed pipe
of length ;’ is equal to the 2™ harmonic
frequency of an open pipe of length ‘.

The ratio h =
ly

(A) (B)

(C) 1)

e de|ca
Wi Wk

The resistance R = -‘;—I where
V=(100+5)Vand [ = (10 £ 0-2) A,
The percentage error in R is

(A) 52%

(B) 48%

C) %

D) 3%

A block rests on a rough inclined plane
.making an angle of 30° with the
horizontal. The coefficient of static
friction between the block and the plane
is 08. If the frictional force on the block
is 10 N, the mass of the block is

(g =10 ms2)
(A) 1kg

B) 2kg

3 kg
4 kg

(C)

(D)

6.

7 0gHdhd word Tows BedEad

© SpTo WRTTE YR 30T 1y EHTT

wom 30 BevHoh SRS Hords wman

2Rnd. Forwad L =

Iy
3 4
(A) T (B) 3
3 2
(C) 5 (D) 5

Sreg R=¥, V=(100+5V )

1=(10+02) A, 833, e R IO Boer

e
(A)
(B)
(8))
D)

5:2%
4-8%
%
3%

20T 2007 RBRT Jo8
BeodBROBO3, 30° BB, oD
QE00 Boed DY 330N, BooRd
@3y DEFedne IR FeoThars 08.
Do FedT PIER we 10 N, 358,
200308 T8, (g=10ms2)

1kg
2 kg

3 kg
4 kg

{A)
(B)
(C)
(D)
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10.

11.

12.

Two particles of masses m; and m, have

equal kinetic energies. The ratio of their
momenta is

(A)
(B) my:my
©  my :fmg

(I mf : mg

I & g

The pressure at the bottom of a liquid
tank is nof proportional to the

(A)
(B)
(C)
(D)

Acceleration due to gravity
Density of the liquid
Height of the liquid

Area of the liquid surface

A Carnot engine takes 300 calories of
heat from a source at 500 K and rejects
150 calories of heat to the sink. The

temperature of the sink is
(A) 125K (B) 250K
(C) T50K D 1000 K

Pressure of an ideal gas is increased by
keeping temperature constant. The
kinetic energy of molecules

(A)
(B)
(C)
(D)

Decreases
Increases
Remains same

Increases or decreases depending on
the nature of gas

10.

11,

12,

m; &3 my 0BFY, ST Beoned
ARBOT BN, BrodweR,  wRNY
Rosden LTI

(A)
(B)
()

my @ Mgy
mg « My
ymy @ mg

2.2
1) mJ :mg

TRITHT 085S RQ, 03B cARITE
eRERcdd SNEROY,

&) BT, SertnedRr

B) TIT WoT3

€ TIT 2T

(D) To oeed B yerar

FTFEF 0BT, 500 K 00T0woded
300 FEiREd ORI, Irodwzd, )
150 T,SRe0 TR, TS BRTE DY,
1 D BT TS

(A) 125K B) 250K

(C) 750K D) 1000K

AT FPoHY, STEF WAOT  wIBII)Y,
TeSpTN BEONY WO B4

(A) 3aD orood

B) BJRLOFPH

(©) orteodoe poPasoR)y

D) ©O FREE Red BRI
eage0 T SRR
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13,

14.

15.

A man weighing 60 kg is in a lift moving
down with an acceleration of 18 ms2.
The force exerted by the floor on him is

(A) 588N

(B) 480N

(C) Zero

(D) 696N

Moment of inertia of a body about two
perpendicular axes X and Y in the plane
of lamina are 20 kg m? and 25 kg m?
respectively. Its moment of inertia about
an axis perpendicular to the plane of the
lamina and passing through the point of
intersection of X and Y axes 1

(A) 5kgm? (B) 45 kgm?

(C) 125kgm? (D) 500 kg m?

Two wires A and B are stretched by the
same load. If the area of cross-section of
wire ‘A’ is double that of ‘B’, then the
stress on ‘B’ is

(A) Equal to that on A
{B) Twice that on A
(C) Halfthaton A

(D} Four times that on A

18, w2) SRFD 1-8 e B2 IP@DION

14.

15.

BODBT ST, 60 $.7B0 BROOmS,
Toresd O wRdun) ok ed
TodReNROT LY

(A) 588N

(B) 480N
©) w7,

(D) 696N

Lot ohd w@IRIZY, @ES
Hoed ;R woemNTN X 3y Y wgnen
esordeasmon 20 kg m? @) 25 kg m?

SRS, TRRT & 0B SEnsd

(X @3 Y) Ropds Tone wacEes
LOTMATHT BRBORY), SWoLT KB

DI Chletin
(A) 5kgm? (B) 45kgm?
(©) 125kgm? (D) 500kgm?

IZogRT BRODTIT HTE 03N A D)
B &Nz, ‘A’ 308030 @3T8 DRecoraED),
orosreeamn B 8 Soed eootnnds
QCBIR)

(8) AT @I IDTNTHZ

(B) AT £eBER3 SO BeNI

(C) AT eBIT etﬁFd&‘;Jdach

(D) AT 2BIT To) TRNAIS
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16.

17.

18.

The magnitude of point charge due to
which the electric field 30 ¢cm away has
the magnitude 2 NC‘I will be

&) 2x10711c
B) 3x1011C
©) 5x1011C
O 9x10°11C .

A mass of 1 kg carrying a charge of 2 C is
accelerated through a potential of 1V.
The velocity acquired by it is

(A) 2 mg!

(B) 2ms!

ms!

1
© o ms
1
2

-1

(D) = ms

The
identical positive charges when kept with

force of repulsion between two
a separation ‘v’ in air is ‘F’. Half the gap
between the two charges is filled by a
dielectric slab of dielectric constant = 4.
Then the new force of repulsion between
those two charges becomes

(A) (B)

&2 | =
b | =

(©)

| =i

4F
D) ot

16.

17,

18.

2 NC™! g@ncsh 26353 §:300% 30 cm
RBRTTOTS womd DY BB FRPD

2x 10711 C
3x1071¢
5x10711¢C
9x107M1C

(A)
(B)
©
(D)

1 kg ToBCH0, 1V DTT 2 C esheBRD),
es8IBees WRE BRODTIV Fenw)

A) V2 ms?
(B) 2ms!

©) -1

1
J2
4
2

ms

ms

(D) -1

ANGT GBeTHE A0 Word GBeBNY
FRo0s Bec MY T uhe) O[T
TOIS DT W T shoiZd eIy
£303003 S53F TR, DI ad%agtdmedﬁ
QONT0T 4 BOR DFPWEFODIWTS ¢
SRBEBNY SIS BRI IBREE  WORY)

o, g,
F F

(A) 3 (B) 3
F 4F

(C} 1 (D) 5
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19. For the arrangement of capacitors as

20.

21.

shown in the circuit, the effective
capacitance between the points A and B is

{capacitance of each capacitor is 4 uF)

J—4]413‘ —L4MF

g e L
_E4p,F _l_4uF

(A) 4 pF (B 2uF

(C} 1pF (D) 8uF

The work done to move a charge on an
equipotential surface is

(A)
(B)
(C)
(D)

Infinity
Less than 1
Greater than 1

Zero

Two capacitors of 3 pF and 6 pF are
connected in series and a potential
difference of 900 V is applied across the
combination. They are then disconnected
and reconnected in parallel. The potential
difference across the combination is

19.

20.

21.

PoTINe zé.raetéﬁoba‘% Q@mrmododq,
2060278 T8 TTIRY To08d 4 uF NN,
A ®FH B Qombrd @By @l
TOBORTOD [oUsS a:ﬁ%

—L4uF
}—4]3 — 4 uF
iy

(B) 2pF
(D) 8 uF

_L}:eipF
A
T4pF

(A)
(C)

4 uF
1pF

2000 ADIPRT woed 008, .03
IRT WFBI, ¥R erd SusY
Shleb:ing

9303

1 803 83z

(©) 180353

D) 3eg

3 pF 33} 6 pF 303 TR mddﬁ#ﬁa
3ee8 Eowdnt IRBNE. BB 900 V
L3I0Z0RR),  [odeeNRE. | guTERy
DCREE BRB D DT I@NoIT
RRREEODQERN, BENT D033 e

(A)
(B)

CR (&) Bos, (0)
(B) 100V (By 100V
(C) 200V (C) 200V
(DY 400V D) 400V
Space for Rough Work / 2,08 ﬁ"vﬁ% 2
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22,

230'

Ohm’s Law is applicable to
(A) Diode

(B) Transistor

(C) Electrolyte

(D) Conductor

If the last band on the carbon resistor is
absent, then the tolerance is

A) 5%
(B) 20%
¢y 10%
D) 15%

The effective resistance hetween P and Q
for the following network is

R
30 30
AYAYAY;
6Q
10 50
P Q
a Lo ®) 210
12
© 120 o L0

21

22. L3R DO TORITD
&) Golew
B) WIFT (W)
© adigge
D) TF

28, WO MmWFS TReFsn ‘rSod aaeged
Roged  Tpiodn wdommn  WBeegsd

IBIJIB0 . ShE.
(A) 5% (B) 20%
(C) 10% D) 15%

24. B 891 ApOATD WUTBE P 3y Q NI

L3, VOIS ek TRers)
R
30 3Q
WA
60
10 50
P Q
@4 Lo B) 210
12
1
© 120 @) -0

Physics
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Five identical resistors each of resistance
R = 1500  are connected to a 300 V
battery as shown in the circuit. The
reading of the ideal ammeter 4 is

25,

=2
300V _

(A)

=

3
B =
(B) 5

|-

-
o

(C) (D)

=~
LIS

Two cells of internal resistances r; and r,

and of same emf are connected in series,
across a resistor of resistance R. If the

terminal potential difference across the

cells of internal resistance r, is zero, then

the value of R is
(A) R=2ry+ry)
(B) R=rp-n;
(C) R=rj-ry

(D) R= 2(1‘1 = 1'2)

25. R = 1500 Q <203 .00

26.

wRch 5
SRepn¥sy 300V :REOR e
BRRCIFED Fpror TOBUBE, ZpeOXT.
STBE BNEFTT (A) dedor® .

3001}%,__ R R %R R gR
| 6 @ . +
1 3
2 4
ot D =R
(C) z A (D) B A

20T 2. ode3. 2. Y OB Eeesny
50208 Trelm) ry DB 1, [T, ‘a@ﬁ’dﬁg{
R Gpepade, Sregd wadmon Zed Jodnd)

HRARING. 0308 GRes r; 8 og

BFFYT DI BARNCIS.
NGO, R S 3¢

(A) R=2(ry+r1yp)

(B) R=rg-1q

(C) R=r1-19

(D) R=2r;-r1y)

Space for Rough Work / 2,543 69.'!3% %'#
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27. The 1-V graphs for two different
electrical appliances P and Q are shown
in the diagram. If Rp and Rg be the
resistances of the devices, then

L)

Q
P
I
0 ST ’
{A) Rp=RQ (B) Rp>Rq
(©) Rp< (D) Rp-= Rq
p<Rq P

28. The correct Biot-Savart law in vector

form is
> —
Idixr)
A) dB =he e xT/
(A) R
N 5 o
IdiIxr)
B) dB =Fe 2C¢xT)
(B) = 3
IR -
1d!
C) dB =%
N -
1d!
D) dB = £C .
() d 411: r3

27. P 333 Q w0 0@ myane 1-V 38 8
NS08, Rp I Ry N end
BreGEnvNgS

H

Q
P
I
(0] v i be o .
(4 Rp=Rq  (B) Rp>Rq
Rq
28. OINET ﬁdc*m G QOHTT
REEITEeTIR OB ARBIL,
~ - —->)
_ Mo I{(dI xr
{A) dB = T 4_13
= I(d? B
B ki 1dZxr)
(B) dB = 3
— Id?
Ho
C ==
(C) dB i
L 5 -
po Id!
D ==,
@) dB =72
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29,

30.

31.

An electron is moving in a circle of radius
r in a uniform magnetic field B, Suddenly

the field is reduced to —g The radius of

the circular path now becomes

(A) (B) 2r

r
2

(C) (D) 4r

r
4

A charge q is accelerated through a
potential difference V. It is then passed
normally through a uniform magnetic
field, where it moves in a circle of
radius r. The potential difference required

to move it in a circle of radius 2r is

Ay 2V (B) 4V

€y 1V D) 3V

A cyclotron’s oscillator frequency is
10 MHz and the operating magnetic field
is 0-66 T. If the radius of its dees is 60 cm,
then the kinetic energy of the proton

beam produced by the accelerator is

(A} 9MeV (B) 10 MeV

(C) 7MeV (D) 11 MeV

29. B 3D m0BFEEBBY, 1o SR, r

30.

31.

SR TR BORYH. SgreTd Foosges,
. .

0 om FRsboderdgd. F3d Suw)
WD

(A) (B) 2r

bo| =

(C) (D) 4r

r
4
V. Ogsedong, ot g e@a@m)
@EOTer  SBRamn, 3% 53 3BT,
WO BN 1 IRV, B3, ORI,
FIE &%, 2r &0V, BOI Bewrdw
QeF00eT FeaR),

(A) 2V (B) 4V

C) 1V D) 3V

woth RERRS  wotReos ¢nFESY)
10 MHz &3] a3 @0 500383y 066 T
BT, e D 7Y $RF 60
Ro.doe.  ROIW. TWEO  AdgtIa
SerpeERrsRon Jpena ol I
B 30D BFoso

(A) 9MeV (B) 10 MeV

(C) 7MeVv (D) 11 MeV
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32.

Needles Ny, Ny and N3 are made of a
ferromagnetic, a paramagr;etic and a
diamagnetic substance respectively. A

- magnet when brought close to them will

(A) Attract all three of them

(B) Attract Ny strongly, Ny weakly and
repel Ng weakly

(C) Attract Ny strongly but repel No
and N3 weakly

(D) Attract N; and N, strongly but
repel Ng

The strength of the Earth’s magnetic field
is

(A) Constant everywhere
(B) Zero everywhere
(C) Having very high value

(D) Varying from place to place on the
Earth’s surface

32.

Pdee, TROE W Bode  T0dod
DTNLETT Ny, N, 3033 Ny 0020 S0
AR, St AREAY BT 0B T0IRDy,
0% '

(A)  QUTIR, VBAFRIT

(B) N; & womon <BaFR0ZE N, 3,
gemoson wR Ny &) §ermomon
SBRERIT

(€) Ny & wemd sBarRgs «ud Ny

533 N, RERY 6o SBaradss

WA
iy

(D) N; =2 N, ¥
SPFIE @O N,
DIXFRIZTS

PROOD ToIEIW)

(&)  @eR 8@ wotde shthIad
(B) R 3@ B8, $NCOZT
©) xR ZRNHIR

D womood Begd, Hoed 2000
RFoon adeomd APE wiweRs
EH e ta)
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34. A jet plane having a wing-span of 25 m is

travelling horizontally towards east with
a speed of 3600 km/hour. If the Earth’s
magnetic field at the location is 4 x 104 T
and the angle of dip is 30°, then, the
potential difference between the ends of
the wing is

(A) 4V
(B) 5V
{C) 2V

D) 25V

34. 25 m oot

35.

), TR, word ol
QARNSF 3600 km/hr Jenwd)  $eew
TP WORZD 59033FeTa) 4 x 104 T
By 520333 30° AW, OIS TR
DONY Bog5edoes DieosTaea),

(A) 4V

B) 5V

€y 2V

D) 26V

SUNSDTIYS, cnIed, B8 OCIRET, (Xp)

85. Which of the following, represents the 85 L,
variation of induetive reactance (X, ) with w3t s Bde)éojo ) dﬁ@ﬁ”’ gﬁea"’ogd
the frequency of voltage source (v) ? X4

AL &) i
(A) _ w
v
X184
X (B) J
(B) J —>V
v
XL A
X
L4 ©) /
(C) L v
——— X,
X5 4
di ® ' N
(D) K v
—_— ¥
Space for Rough Work / 2,083 Goﬁ% %@
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86. The magnetic flux linked with a coil
varies as ¢ = 3t2 + 4t + 9. The magnitude
of the emf induced at t = 2 seconds is

(Ay 8V :
(B 16V
(C) 32V

(D) 64V

37. A 100 W bulb is connected to an AC
* source of 220 V, 50 Hz. Then the current
flowing through the bulb is '

5
(A) I A

(B) A

LR

(Cy 2A

(D) A

o] e

88. In the series LCR circuit, the power
i dissipation is through '

A R
B) L
¢ C
(D) Both LandC

86. Zo3oH ROTYR ToogeF T

¢ =3t2 + 4t + 9 RoJFramen, t =2
RBoRRY, Fedw AT w.aBF T I
EAEAVEL)

4a

(A) 8V

(B) 16V
€) 32V
(D) 64V

87. 100 W S 208 W 220 V, 50 Hz 28R
TARFOD T @B0E Weedmn «
WOR TW0ETOIT BOCKVR HEYZY

88. 3erd LCR @peorsoBon® oSnmso
SoaRe3T mdoqﬂér BBTD ﬁm{@m
(A) R |
B L
(C) ¢

D) LRRC

Space for Rough Work / 2.8 #c_m% z‘f;u"
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39. In Karnataka, the normal domestic power
supply AC is 220 V, 50 Hz. Here 220 V
and 50 Hz refer to

(A)
(B)
(C)

Peak value of voltage and frequency
rms value of voltage and frequency

Mean value of voltage and

frequency

(D) Peak value of voltage and angular

frequency

40. A gstep-up ftransformer operates on a

230 V line and a load current of 2 A. The
ratio of primary and secondary windings
is 1 : 25, Then the current in the primary
18 )

(A)
(B
(C)
(D)

25 A
50 A
15A
12.5 A

41. The number of photons falling per second

on a completely darkened plate to
produce a force of 6-62 x 1075 N is ‘n’. If
the wavelength of the light falling is
5% 107 m, thenn = x 1022,

(h = 662 x 10734 J.g)
(A 1

B) 5

(Cy 02

(Dy 33

39, TDRFWIRQ B evTodeerien wHRKE AC

40.

41.

- (B

DT 33030 220 V, 50 Hz, wchs.
TorwaS 8¢ 220 V @533 50 Hz o0d

A) QPIT Zon B3¢ FF) uR

LR rms 38 3T w3

NRPRT FoRO B3 =By St
DT For 13 W) EeT 6@

(&)
(D}

230 ANFBH PR Tonp ZA Sned
Bod BevdhE HoF TowIres Fpes
RO 02y QPecdon RTINS eoToIR)
1: 25 383 [Hes OveDE, Boodos
DTF ITRY

(A)
(B)
(C)
(D)

25 A
50 A
15A
125 A

662 x10°N WO, FUTDRE BOTHPEoF
BB 3D, 1ot Aotk wTT e
ReJUTD  Fpew R Bogd m AT,
@983 30on TedH 5 x 107 m SAGY,
n=__ x10%2 (h=662x1073 J5)

(A) 1

B) 5

(C) 02

(D) 33

Space for Rough Work / 2.3&3% 'GQS% g
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42.

43.

44,

An object is placed at the principal focus
of a convex mirror. The image will be at

(A) Centre of curvature

(B} Principal focus

(C) Infinity

(D) No image will be formed

An object is placed at a distance of 20 em
from the pole of a concave mirror of focal
length 10 cm. The distance of the image

formed is

(A) +20cm (B) + 10c¢m

C) -20em (D) -10em-

A candle placed 25 ¢cm from a lens forms
an image on a screen placed 75 ¢cm on the
other side of the lens. The focal length
and type of the lens should be

42..

43.

(B)

Q8 WTFIT TEOS FoNDD  WOIDRE,
200D W), AT, 9T [IWOWR) G,
RIS

=T Feols,

R Kona3d o)

(A)

(C) QAT QAE3

(D) T,3200% JRBPOL,

womd @I, 10 Fo.doe.  Fonad
BRODDIT ol AT TEFRE  B0oTs
20 RFo.owe. TRODY BoINE. D
SUORDTRTEIT F3oWT TWRTH)

Ehievciad
{A) +20cm (B) +10cm
(C) -20c¢m (D) -10cm

w030 WIRRDROD 25 cm £030BATR
Woerdd WD T30y  FHRRCT
[SRET RN 75 cm WOBTTY, TWeIT.
TTWTT WEIERT TITRT IR TR
Ron@owesw) ? |

(A) <+ 1875 ¢m and convex lens :

(A)  $e3 3RR3T B0F +18:75 cm
(B) -18'75 c¢cm and concave lens

(B) Qi RoR0T H0F 1875 cm
(C) + 20-25 em and convex lens ]

(C) e TWRRT ©o2) +20-25 cm
(D) - 20-25 cm and concave lens D) 3)32{ 3320 52y -20-25 em

Space for Rough Work / 3.0 30ﬁ§ %%3
Physics (17 — A)



45. A plane wavefront of wavelength A is

486.

47.

incident on a single slit of width a. The
angular width of principal maximum is

2

(A)

L (B)
a

(®); D)y —

a
A 21

In a Fraunhofer diffraction at a single
slit, if yellow light illuminating the slit is
replaced by blue light, then diffraction
bands

(A) Remain unchanged
{B) Become wider
(C) Disappear

(D) Become narrower

In Young’s double slit experiment, two
Ay = 780 nm and
obtain

wavelengths
Ag = 520 nm  are used to
interference fringes. If the n' bright
band due to A; coincides with (n + 1)th
bright band due to Ag, then the value of n

is

A) 4
(B) 3
(C) 2
D) 6

45.

47,

A ITOMoOITHY, ddoﬁdooa)ﬁdgl &3
xesbnodod Roeed JOWAT. AesdnoRod
OnY a UNSY eI TFd Dod
BReACD Lne

® 2
a

(A)

LEp

22X

8 Aesbro® DN HET QEIFEeDY,
e THORODRY WENITHT BED VRS
dods  wmdt Aed  wno i)y
NTO3RLAVTY, TIES LYOTRD

(4)  [gTont QoI

(©) D)

2 o>

(B) nownogs

(C) TRmNZS

D) somrhEss

a3ron® BaesbroR T 03eentd,
)\‘1 = 780 nm Eb@b_’ 12 = 520 nm

30orwo3cn ¥R evmodeeny  BRo®d
WYss 880y owrnish FeRS. nth
Trozmeod ommozes Ay 3K (n + DL
TEasas> A, HASRABTRR, n 3 136

A 4
(B)
(C)
(D)

=PI B I

Physics
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48,

49,

In Young’s double slit experiment, slits
are separated by 2 mm and the screen is
placed at a distance of 1'2 m from the
slits. Light consisting of two wavelengths
6500 A and 5200 A are used to obtain
interference fringes. Then the geparation
between the fourth bright fringes of two
different patterns produced by.the two

wavelengths is
(A) 0312 mm
(B) 0123 mm
(¢) 0213 mm

(D) 0412 mm

The maximum kinetic energy of emitted

photoelectrons depends on

(A) Intensity of incident radiation
(B) Frequency of incident radiation
(C)  Speed of incident radiation

(D) Number of photons in the incident
radiation

48.

49,

oon's QaedrioR TO3RenTY,
Bebrrotns IS 2033
aesbrio® B ToDok TRIDT oo

Z mm,

12m 293 6500 A Iy 5200 A
300moo3any el o) Dedod
3UsoDotDI WYFecd g
$or Y IBOT 5030

(A) 0:312mm

(B) 0123 mm

©) 0213 mm

D) 0-412mm

e SIMPS  NOR Wonggoedn
©TONT NI

(A) T8 80T S
(B) <R 000 U3
(C) ¥ D30T Ben

(D) ©mE DIVRBR PeeT*NY o,

Physics
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50. A proton and an o particle are accelerated

51.

52.

through the same potential difference V.,
The ratio of their de Broglie wavelengths
is

A V2
(B) 242
©) 43
D 243

The total energy of an electron revolving

in the second orbit of hydrogen atom is

(A) -136eV
(B) -151eV
(C) -34eV
(D) Zero

The period of revolution of an electron in
the ground state of hydrogen atom is T.
The period of revolution of the electron in
the first excited state is '

A) 2T
(B) 4T
(C) 6T
D) 8T

50, 2,08 DJw0030 V I womd e

61.

52,

DL o-FONED, etodenr SnRGmR,
RNG B¢ LN FBormwods LTS,

(a) 2
(B) 242
© 3
D) 243

REQRY  ITIROIT H0BS BFDG,
TR w0k B

(A) -136eV

(B) -151eV

(C) -34eV

(D) Zero

Brdpens BOIRDISY, PR
RCHQIT adeys® Rdadoden
BOWE ©=0 T, o388, IeEy wwdes
AB0EG ST YRG0 WTH

A 2T

(B) 4T

(C) 6T

(Dy 8T

Physics

Space for Rough Work / .08 G’Oﬁ% B¢

(20— A)

21



53. The energy equivalent to a substance of

54.

55,

mass 1 gis

(A) 18x1018J
B) 9x10187J
(C) 18x10%J

M 9x108J

The half-life of tritium is 125 years.
What mass of tritinm of initial mass
64 mg will remain undecayed after
50 years ?

53.

h4.

1 Mo oodrt AR 3§

(A) 18x 1018
(B) 9x1013J
(C) 18x10%J
(D) 9%x10%J

8300008 BERFa3nEy 12-5 BRENYING.
64 mg TRTCWE BFOSCWTOT/ £&000F
R, BN 50 IR S03T TAFgmorics
Torie LWPRBIZSE ?

(A) 82mg (A) 32mg
(B) 8mg (B) 8mg

(C) 16 mg
(C) 16mg Tho Ny
(D) 4mg

In a CE amplifier, the input ac signal to
be amplified is applied across

(A) Forward biased emitter-base
Jjunction

(B) Reverse biased collector-base

a5,

WOIRFOR ac AWIT® &Q@‘@e CE
BORFTODT' Y, BROFAD BITOWT

(A) TRTIFE  WODAL,  IWWT- W
WORT -

(B) 0F=°F 2O, 8SYLT - wogs’

junction ;
! (C) OIx°F WODRE, Q0T8T
) F{evel.'se biased emitter-base %Oﬁ@‘
Junction
] D) HUIEE (Aleverol 100 lo e
(D)} Forward biased collector-base & &
junction BWORT®

Space for Rough Work / 2.8 #Qﬁi :’g-*
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56.

B7.

If A=1and B = 0, then in terms of
Boolean algebra, A+ B =

A) B
(B) B

C) A

e

(D)

The density of an electron-hole pair in a
pure germanium is 3 x 10® m=3 at
room temperature. On doping with
aluminium, the hole density increases to
45 x 1022 m~3, Now the electron density

(in m~3) in doped germanium will be
(A) 1x1010
(B) 2x 1010

(C) 0-5x 1010

56.

87.

A:lﬁ)@gB:OGCﬁd. (ATnluleversg
Wexned3m [EB A+ B =

(A) B

v

(B}

(C) A

>

(D)

Bt HTANIDQ,  word By
dgeerdooRE, HSEE - Oog,
dReA0 0z 30a0 3 x 1016 m=3 engs.
Clanvy dAne®
BRBR Bog, ORI 45 x 1022 m3
S, BeRrhIW SN B Beew®  BhTH
deRohos ot wodd (m 39)
e eﬁr:\dagd.

e@%&baoboaod

(A) 1x10%0
(B) 2x1010

(C) 06x1010

D) 4x1010
(D) 4x100
Space for Rough Work / %0t3 ivﬁi i
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b8.

59.

The dc common emitter current gain of a
n-p-n transistor is 50. The potential
difference applied across the collector and

emitter of a transistor used in CE
configuration is, Vog = 2 V. If the

collector resistance, R = 4 kQ, the base
current (Ig) and the collector current (Ig)

are

(A) Ig=10pA, Ig=05mA
(B) Ip=06pA, Ig=10mA
(©) Ig=5pA, Io=1mA
D) Ig=1pA, Io=05mA

The radius of the Earth is 6400 km, If the
height of an antenna is 500 m, then its
range is

(A) 800 km
(B) 100km
(C) 80km
(D) 10km

A space station is at a height equal to the
radius of the Earth. If ‘v’ is the escape

58. D-p-n (RIS TWRHT DT IS0k

59,

Ae  50. CE  HoBo  Inmdodd,
Dodeenad DPe030m) Ve = 2V.
IR SRR Re = 4 k, ¥OT, 87
3ot (Ip) B3y 85eBO® Bdoer (Ig) o
we

(A) Iz=10uA, Io=05mA
(B) Ip=05pA, Ip=10mA
(€ Ip=5uA, Ig=1mA

D) Ig=1pA, Ig=05mA

PADH 3%, 6400 km SATD, 2.0TH
506300 0 500 m BT, VT0 T3,

(A) 800 km
(B) 100 km
(C) 80km
(D) 10 km

LOTd ReX ST phedocd $xg

&3

AT HITEOR. Vg PN Hoed 3

velocity on the surface of the Earth, the aResm ﬁer{mﬁd@ﬂ B Segd
same on the space station is = e
times vp,. %ﬁa‘d@?ﬁ ———VE Qj:’wjo RoRNIZE.

1 1 1 1

e 2z L B =
{A) 5 (B) 7 (A) = (B 3

1 1 1 1
C — D) — ) == (D) —
© & e 5 2 N5

Space for Rough Work / 2.0t %’Oﬂi’* ,‘.é%*
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1-0 g of Mg is burnt with 0-28 g of O3 in a
closed vessel. Which reactant is left in
exeess and how much ? '

(A) Mg, 58¢g
(B) Mg, 058 ¢
(C) 05,024¢g

(D) 04,24

The orbital nearest to the nucleus is
(A) 4f
B) 5d
(Cy 4s

I 7p

Which of the following is the correct order
of radius ?

A) H >H>H
(B) Na*>F 0%
() F >0% >Na*

(D) AP+ > Mg?* > N%-

10 ™o Mg oR 028 ™o 0, Un3d

ToWE TFoNQ, TLATN IR FodR

= HoPCEZeS woEy i) ?

(A) Mg, 58g
(B) Mg, 0-68g

RAEEORT BYT A0S TFF
@A) 4
(B) 5d
(C) 4s
D 7p

1 $INSHNIP, cdRRR> RORD 1Y
3RBOB?

(A) H >H>H*

(B) Na*>F >0*

(C) F >0%>Na*

(D) APt > Mg? >N

Chemistry

Space for Rough Work / 2,082 Goﬁi %@
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4. The intramolecular hydrogen bond is (4. &8 d¢8o@ IRJITOY, wmYeI0E
present in FRR R word |sogs ?
{A) Phenol
(A) e
(B) o-Nitrophenol
(B) o-gdneqemoes
(C) p-Nitrophenol
(C) p-gHncpeoe”
(I p-Cresol
(D) p-Te*
5. The state of hybrid orbitals of carbon in : _ ;
| . CO; CH;y & )
COy, CH, and 00‘3‘)" respectively is i 2 4 3_.} 00, St
' Ros0es BgEne A
(A) sp3 s d
oy ap and sp (4) sp?, sp® B sp
By sp®, sp and sp?
(B) sp?, sp oI sp?
(C)  sp, sp? and sp?
(€) sp, sp°® @3 sp?
(D) sp?, spd and sp
' (D} sp?, sp? DR sp
6. For an ideal gas, compressibility factor is
8. OB WROR DATTRR ©od
(A) 0
(A) ©
B) 1
B) 1
o -1 © -1
D) +2 D) +2
Space for Rough Work / &8t 08 %¢
Chemistry (3-A)
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7. The relationship between K, and K, is K, a&h3)K, nences Sowod K, = K(RT)%®
= K,(RT)*?, What
K, = K RT)*". What would be the value NH,CI (s) = NHj (g) + HCl (g) 88 $03 An
of An for the reaction .
B T ?
NH,Cl (s) = NH; (g) + HCl (g) ?
4 s\g g @A) 1
A 1 (B 05
(B) 05 (Cy 15
© 15 D) 2
(Dy 2 .
BF3 o 650000303053), B8 #9803 03Rad
8. Acidity of BF; can be explained on which ATTREBOOT HTBORTIT ?
of the following concepts ? (A) ©GOLACHR A3
A
A i '
(A) Arxrhenius concept ® w m__iw_ 0 ATy o3
(B) Bronsted-Lowry concept
(C) SR 2003
(C) Lewis concept e
(D} Bronsted-Lowry as well as Lewis (D) @a‘.‘-‘i&‘-mb mc%os TN SoTS
concept ?oa%oé
9. For the redox reaction 8 39NS 3 Iems e 3,030036)
) [oc)
MnOy +yH '
X MnBe ty 20204'2’ZH+" xMnOj +y HyCoOy + 2 H* >
M +
m Mn=" +n.CO, +p Hz0 m Mn?* + n CO, + p H40
The values of x, y, m and n are %, ¥, m @353 n 233030
KRN 052 1572 A) 10,2,5,2
(B) 2,5,2,10 B 2,5,2,10
©) 6,4,2,5 (C) 6,4,2,5
(D) 8,52 10 (D) 3,5,2,10
Space for Rough Work / 2.3 #023':‘; :g-?
Chemistry (4-A)
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10 H,0,is

(A) An oxidising agent

—_— —

(B) A reducing agent

(C) Both oxidising and reducing agent

(D) Neither oxidising nor
agent

11. Dead burnt plaster is

(A) CaSO,
(B) CaSO,- %Hzo

(C) CaSO,-H,0

(D) 03504 * 2H20

10,

reducing

11.

12. Identify the following compound which | 12.

exhibits geometrical isomerism ;
(A) But-2-ene

(B) But-l-ene

(C) Butane

(D) Isobutane

H202 ?»OdJ

(A) w%ﬁrma (eﬁfg%&on‘ a&io&a)
(B) 35RO (demémons mioas)
(€)  woBRFETDd BBy TR 9500

(D) eUBRFOBO WY  WTERF WO
QOB Y,

B WOk TROT AR ?

(A) CaSO,
1
(B) CaSO,: 2 Hy0

(C) CaS0,-H,0

(D) CaS04+2H0

59803  DwoIAndg myndeod
RRIONE BeORBR, MO0

(A)  WRH-2-34F
B) wRE-1-8i°
(C)  wmybies*

1)) aox’uacmr:gsaa"ea‘

Space for Rough Work / 2,343 &Jﬁ% %’#
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13. During the fusion of organic compound | 18. FB0DH FoodbogRWY,  AwedodTr

with sodium metal, nitrogen present in dneZdeodn Zoamen, TSeTd
- the organic compound is converted into RoobIRRNIYTOR FTuSvey 8 NS
O3 Foodong [N BRHTF NI
(A) NaNoO,
(A) NaNO,
(B) NaNH,
(B) NaNH,
(C) NaCN
(C) NaCN
(D) NaNC (D) NaNC

14. The reagent ‘X’ used for the following | 14 #9nS 30301 w3 §oineTs X

reaction is R 24

R R R-C=CR+H, X, (€=C
X N\ / 2 /s \

R-C=CR'+H, ——» C=C H H

H/ MH
{A) Ni

(A) Ni

(B) Pd/C (B) Pd/C

(C) LiAlH, (C) LiAlH,

(D) Na/Liquid NHy (D) Na/Liquid NHj

Space for Rough Work / 2.0t #OS%; #&5’
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15. Which of the following ions will cause [ 15, 88 #9n3 olRx 0RO L0

hardness in water ? 7{;3353535 @deamﬁﬁ
(A) CaZ*
(A) Ca2*
(B} Na*
(B) Na*
(C) CI
© ar
o Kt
(D) K*

186. . Which of the following oxides shows 16. dpeEndod &)d%s‘ oﬁmﬁdﬁ%{ odss

electrical properties like metals ? 53 T EeOR0ZE ? |
A)  Si0, o IEe
(B) MgO (B) MgO
nLE © SOy(s)
(D) CrOq @ Cro,

17. 8903 oInRT TSty 3T B
17. Which of the following aqueous solutions

should have the highest boiling point ? B0030R LR Bpod
(A) 10 M NaOH (A) 1-0M NaOH

B) 10MNagSO, (B) 1-0M NagSO,

(©) 10 M NH,NO, (©) 1-0 M NH,NO,
(D) 10MEKNOg - (D) 10 M KNO,

Space for Rough Work / L.88 ivﬁ% g
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18. The charge required for the reduction of

19,

1 mole of MnO; to MnO, is

(A) 1F
(B) 3F
(Cy BF

D) 7F

For the reaction,

250y + Og = 280y,
the rate of disappearance of O, is
2 x 1074 mol L1571, The rate of

appearance of S04 is

4) 2x104molL1g?
(B 4x10*molLlg?
(© 1x10'molLtg?

D) 6x10tmolLlg!

18.

19.

1 R MnO;

ﬁ)od Mll02

&

LTTRF R0 WPemorss adaaqaa"eei@

(A) 1F
(B) 3F
(C) 5F

M 7F

35 89N goor
250, + 0 = 250,
0, 8 Torbodnrds 5o

2x 104 mol L1 ¢! 433 80, 3
wu3godnra 3o

A) 2x10tmel I 1s!
(B) 4x10%molL 151
(©) 1x10°mol [ 1g1

D 6x10tmolL1gl

Space for Rough Work / 35t se%% g
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20, Which of the following electrolytes will | 20, 83 BFNTINGEG, 03R HWReT, Agl/Ag”

have maximum coagulating value for Rpo® o NOR, BT Jo0BII)
Agl/Ag* sol ? BRRoHTHIH ?
(A) NagS (A) NayS
(B) N33P04 B) N33P04
(@ Na,S0, (C) NayzSO,
(D) NaCl
(D) NaCl

21. Electrolytic refining is used to purify 21. NS oI d@egﬁdd‘l &ﬁ%aﬁdm

which of the following metals ? Smss e s
(A) CuandZn @) Cu3yZn
(B) GeandSi (B) Ge ARSI
(¢) ZrandTi (C) Zr B Ti
(D) Znand Hg (D) Zn m Hg
22. Dryiceis 22, ZoF =HoRONEEI0
(A) Solid CO (A) PICO
(B) Solid SO, E | B) IS0,
(C) - Solid COy (C) FICO,
(D) Solid Oy D) 80y

Space for Rough Work / 2.8 i@ﬁi g
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28. Which of the following is an amphoteric | 28. 3903 oIna o8 & HeeR oogipeios
oxide ? : (Bvwod) &8 = end

(A) V305, Cry0g (A) V,05, Cr,0,

(B)  Mny07, Cry0;4 (B) MnyOy, Cry0q

) Cro, V205 C) Cr0, V205

(D) V305, V50y (D} V305, Vo0,

24. [Co(NHj3),CI(NO,)]Cl 3 JUPAC 333>

24. The IUPAC name of

[Co(NH)4CINO)ICl is (4) s oR)RipdEeHe-N-
gomer (II) a5
(A) tetraamiminechloridonitrito-N-
cobalt(ITI) chloride (B) edimeuystnDunstindmomer(In
a3
(B) tetraamminechloridonitrocobalt(II)
1 (©) dememRiaphagiagemeD
(© tetraamminechloridonitrocobali(T) - SRge’
chloride
(D) &fzeiySEn0rrdFrindewees(IN)
(D) tetraamminechloridodinitrocobalt(III) ﬁ_@%w
chloride '

Space for Rough Work / 8.0 '_-?v;-'o'% g
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25. Which of the following statements is true

26.

27.

in case of alkyl halides ?

(A) They arepolar in nature

{B) They can form hydrogen bonds
(C) They are highly soluble in water

(D) They undergo addition reactions

Phenol can be distinguished from ethanol
by the reagent

(A) Bromine water
(B) Sodium metal
(C) Iron metal

(D) Chlorine water

Which of the

undergoes haloform reaction ?

following compounds

(A) CH3COCH4

(B) HCHO

(C) CH3CH2BI‘

(D) CHz-0-CH;,

25.

23.

27.

85 SIS cInd Bewd &S o TyGEROR
0220027302 IRWHTIT ?

(A) S TR0 mies Brodchds
(B) HORTT WoPIII) HTFRRZS
(€) o) DeORY B BOMIS

(D) RN Josod §00R LIRS

BN 03RS 0ec3rexonR), Wk PEVOBY
B1Go STV B e8TTBOTD

(A) Wreanes® Jecd
B) Rmezodo el
(©) BYP Sred

(D) 3RO e

83 39NT Kooy WARNGY, T, deeaesde
§,0301 CINTT 2wITILS ?

(A) CH,COCH;

(B) HCHO

(C) CH4CH,Br

(D) CHy-0-CHjg

Chemistry
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28. Which of the following will be the most | 28. 8 $¥ns Ferdedodo (R N X )
stable diazonium salt (R N3 X ) ? OWONBY, BRI gjﬁgg 453 Brodas ?

(A) CHg N3 X~ (A) CH3 N; X~

(B) CgHs N, X~
(B) CgHg N3 X~ ok
(C) CHgCHy N3 X~
+
(C) CH3gCH; N3 X (D) CgHyCHy Nj X
(D) CgHz CHy N3 X~

29. & 8J0R 0NN T[T BT D I

29. Which of the follewing bases is nof QOIREE ?

presentin DNA ? ' 7

(A) WIS
{(A) Adenine

(B) ™%
B :
(B) Guanine © %ﬁm&a‘
(C) Cytosine D) AT

(D) Uraeil

30. Which one of the following i_s a polyamide 30. 3 dvdor m@doo‘ﬁ#g‘ mﬂaﬁ%w

polymer ? TORT® IR ?
(A) Terylene (A) odg* |
(B) Foo=-6,6
(B) Nylon-6,6
©) -8
(C) Buna-8
(D) mBedes
(D) Bakelite

Space for Rough Work / 2,88 Goﬂ% 3¢
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81. In F.C.C. the unit cell is shared equally

. by how many unit cells ?
(A) 10
(B) 8
(C) 6
D 2

82. At a particular temperature, the ratio of
molar conductance to specific conductance
of 0-01 M NaCl solution is

(4) 10° cm® mol !
(B) 10% cm® mol™!
(C) 10 em® mol™

(D) 10° cm? mol !

838. Isotonic solutions are solutions having

the same

(A} Surface tension
(B) Vapour pressure
(C) Osmotic pressure

(D) Viscosity

31.

32.

DT 2.8, I Q0T 00 B wed
ST CIAEF BT IROOT BosROBHIITS
A 10

(B) 8

©) 6

(D) 2

205> JOFA, PIRRSEY, 001 M NaCl
PR BeeRd wIE TR 28T,

- FRT30D) LT3

(A) 10° em3 mol™!
(B) 10° em® mol'1
(€) 10 cem® mol™.

M 10% cm? mot™!

NS> R L.IRE mosdensd, .00
0e80%0 Brodd3oZss.

Q) [eqd, o3
(B) 0 wIRB
(C) xR wIr

) R&rié

Space for Rough Work / 2.0 Gvﬁi"pﬁ
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34. The temperature coefficient of a resction

36.

is 2. When the temperature is increased
from 30°C to 90°C, the rate of reaction is

- increased by

(A) 150 times
(B) 410 times
(C) 72 times

(D) 64 times

Gold sol is not a

(A) Lyophobic scl

(B) Negatively charged sol
(C) Macromolecular sol

(D) Multimolecular colloid

The common impurity present in bauxite

18

34

35,

2,070 $05003 VRSB Beearodowr
2 NG, 2.0 $0O0H GUFBODI) 30°C
Q0T 90°C 1 FWgReprazdd. on feododd
=Sert s Bierioga

(A) 150 Ao
B) 410 30D
€ 72 3ZoOR

(D) 64 330D

WoTRTE sdog) IWAIINTY, ol
CHIoY
(A) Olnepest e

(B) aedBYTOIF)Y, WP
(€) INIFRBRIBHYOT® e
D) DO IpdBRU e

(A CuO 36, WINTFPN W 1 0030
esBonBivh angiond

(B) ZnO
(A) CuO

(C) F9203 (B) Zn0

(D) CI’2 03 (©) F0203
(D) CI‘203

Space for Rough Work / L0830 ioﬁ% :‘ib#
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87. Very pure N, can be obtained by

(A)

(B)

(C)

(D).

Thermal

ammonium dichromate

decomposition of

Treating aqueous solution of NH,C]
and NaNO»

Liquifaction and fractional
distillation of liquid air
Thermal decomposition of sodium

azide

88. Which of the following oxidation states is
common for all lanthanides ?

(A)
(B)
(©)

(DY

+2

+3

+4

+5

89. The electronic configuration of transition

element “X”, is +3, oxidation state is
[Ar]3d5. What is its atomic number ?

(A)
(B)
©
(D)

25
26
27
24

37. 8,03 3G N, &) BB oS

38.

39.

(A)

(B)

(C)

(D)

=

SRANCHTT HRRFTR), TDOOT
QP

NH,C] TR,
TOVEIN0T TEFATON

SRk BOBODIB R
PRRSIAPALTRRID

NaNO,

&0 wzﬁwﬁg‘ ToDT NPRT

8o odnsd mqwm A8

ROBIBREN BRIENCZS ?

(A)
(B)
(C)
(D)

+2
+3
+4
+5

2,000 BB Rop [ X7 T esdresn®
Sows® +3 ©NE, WT0 JURRE IR
[Ar13d® end =TE & Swo BT
RO B0, FRGIY ?

(A)
(B)
(&)
(D)

25
26
27
24

Chemistry
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40. n-Propyl chloride reacts with sodium

metal in dry ether to give

(A) CHz— CHy - CHy;- CHy;— CHy - CH,
{B) CH3- CH, - CHj

(C) CHg—-CH; - CHy - CHg

(D) CHy—- CHy— CHy— CH,— CH, ~

40,

iR’ daahdsy Aecdodo
SeBRHo0R BSrATn WIOE BooswE
(A) CHz— CHy— CHy - CH, — CH, - CH,
(B) CHj- CH,- CH

(C) CHy = CH,— CH, - CH,

(D) CHz— CH,~ CH,— CHy — CHy —

CH, - CH.
CH, - CH, o
41, When the vapours of tertiary butyl
aleohol are passed through heated copper | 41, cRove ATCh S RIS eﬁa‘DQi)aigt
at 573 K, the product formed is 573K R 300as 333_:)):3 35063
(A) But-2-ene OO WAE 03
(B) 2-Butanone A)  wRw-2-00x°
(C) 2-Methyl propene (B) 2-wREnIed
(D) Butanal € 2-0h FpBes*
D) oo
42, What is the increasing order of acidic
strength among the following ?
: -
JO03RT B
(ii) p-methyl phenol =
i 2008 HT
Gl o B DTS
i) Pp-OFPY L
(A) di<ifi<i (i) p-Fein g0
(B) iii<ii<i (A) i <iii<i
© i<ii<iii B) iii<ii<i
Ch (C) i<ii<iii
(D) i<iii<ii D) i<iii«ii
Space for Rough Work / W3 80#% i
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43.

48.

Which of the following is more bagic than

aniline ?

(A) Diphenylamine
(B) Triphenylamine
(C} p-nitroaniline

(D) Benzylamine

The two forms of D-Glucopyrancse are
called

(A) Diastereomers
(B) Anomers
(C) Epimers

(D) Enantiomers

Among the following, the branched chain
polymer is

(A) Polyvinyl chloride
(B) Bakelite
(C) Low density polythene

(D) High density polythene

43. FNIPNYY, I WROTNoZ Fedy,

45.

T 0e03053N3 7
(A) Bagorodys
(B) &gl
©) pFEseds

D) Voo

D- ﬁ@_)ﬁra%dﬁraen‘d BN o1r.9) pneraee]

BRTONTI), B 0e3 FECINTY
(&) TBoIRRPeoSRBTT,

(B) SBREVTT

©) DT

(D)  QFORNEIRTTT,

EBNSIYNSY, iR eBE wodeoT®
Slplevr:iad

@) ODFe BRI
® B
(C) G B33 TOOES’

D) F B3 OH

Chemistry
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468. Edge length of a cube is 300 pm. Its body
diagonal would be

{A) 600 pm
(B) 423 pm
(C) 519-6 pm
(D) 4505 pm

47. Which of the following is not a condu_ctor
of electricity ?

(A) Solid NaCl
{B) Cu
(C) Fused NaCl

(D). PBrine solution

48. For a cell reaction involving two electron

changes, E. = 03 V at 25°C. The

equilibrium constant of the reaction is
(A) 10710

(B) 3x1072

(C) 10

(D) 1010

46. 0T PIT WO tmccfa 300 pm NI,
0330 FOOL BEIF Y

47.

(A)
(B)
(C)

(D

600 pm
423 pm
5196 pm

450-5 pm

83 FINTYNVY oo Dy TeEe Fe,

(A)

(B)

(C)

(D)

DS NaCl

Cu

F0NT NaCl

o 283 Bech

25°C 3 TR HIRF  WRRIH
CIRrOR 2,000 8063 305, B = 03 V.
82 §,03000 REYS HToB

(A)
(B)
(0)
(D)

10—10
3x1072
10

10]0

Space for Rough Work / 2.3 305% i
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49.

The value of rate constant of a pseudo

first order reaction

{A) Depends only on temperature

{(B) Depends on the concentration of

reactants present in small amounts

(C) Depends on the concentration of

reactants present in excess

() Is independent of the concentration

49,

aotm, BFR IFE oin Bendodzoss
IR

(A) 003 e Bng,
£35300233ToNTOBTS

(B) TJ3BIrdn 030k 1B D@
230¢¢3 BROOWSHINTII

(© BEBIFBR WO Bedy, Faeras
B¢ I[OOLITONSOIZT -

(D) T3IBB3 To0B0% B0eS mLows

of reactants ToNCORDL,
50. (CHg)4SiCl is used during polymerization 50. SRFRRASIRCTNY TWOTOITEHTEY,
of organosilicons because
(A) (CHg)38iCl 9, BedR0m

{A) The chain length of organosilicon
polymers can be controlled by

STRFSMOERET TIRDTE TP

it | ugR HRIH HORIB
(B) (CHg)3SiCl improves the quality (B) (CHg)4SiCl, TODTI Mo o)
and yield of the polymer emSﬁcS @mmﬁd} o]
) Rt e
(C) (CHg)4SiCl does not block the end (C) (CHg)4SiCl, A0BNT ToORIOS &N
terminal of silicone polymer
potym OO FNROY,
(D) {(CHg)38iCl acts as a catalyst during (D) (CHg)3SiCl, dR080883E
polymerisation SBenRprImon BRI

Space for Rough Work / .88 io:i% i
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81. When PbO; reacts with concentrated | 51. Zo HNO; o0 PhO, #Hed Ieamon

HNOQg, the gas evolved is PUOERTIW 22O
(A) NOg (A) NO,o

(B) O, . | (B) O

©) N, (C) Ny

D) N0 ' (D) N0

52. Imagd  [nGDAY,  KMno,
SOFIRF COTOERN BIFRZT. BIYAED
RRGEBY, KMnO, 3 K Seodn

52, KMnO, acts as an oxidising agent in
alkaline medium. When alkaline KMnO,

is treated with KI, iodide ion is oxidised

to WSFHN I 00T eudarR
A I, A I
®) 107 (B) 10
© 10; ©) 10;
D) 10 (DinalOy

53. [Fe(NOy)y Cly] 3583 [Fe(O - NO); Cly
53. [Fe(N02)3 013] and [F e(O = N0)3 013] g'@eazbgag

shows

. (A) 30w IRRon3
(A) Linkage isomerism

(B) Geometrical isomerism (B ﬁ%‘m‘% R@mord
() Optical isomerism (C) 2398 AZ:on3
(D) Hydrate isomerism (D) =we TImen3

Space for Rough Work / 2,0t Goﬁ% %ﬁ;‘
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54, Tertiary alkyl halide is practically inert 54. dauméﬁ d:aﬁ,odraemogom uc3ed @030013@’
to substitution by 'SNZ mechanism %3053 qu@ &%a‘ﬁ%ﬁ T 03ReNEZN
9
e BRSFNTOZE DT !
A) BTOPOV
(A) Insolubility ) D =
(B) o»d3
(B) Instability
(C) aoBées TOBOR
(C) Inductive effect =R
(D) 2:;3@5‘ TOTOTD
(D) Steric hindrance
55. T3 3IINI THoDIT 3,080 ﬁd?‘éa‘bq,
856. The products X and Z in the following '
cuggivo X w08y 2 rhoosy
reaction sequence are
- AlClg/ether
. +CH; -CH=CHy ——— X
AlCly/ether Heat,
+ CHy-CH = CH,
_ Heat
OH
OH 0,/ 130“0} H*szo_: N
Heat
0,/130°C H*H,0 .
> > +
ot () RRTr oren’ Tz ertines
(B) B0t Bded, B a3 st
(A) Isopropylbenzene and acetone
(B) Cumene peroxide and acetone (C) mm%%o Bone d)&’g
- (C) Isopropylbenzene and isopropyl mmaﬁ@%@ G@%@E&@J‘
= D) Lemer DB LN
(D) Phenol and acetone
Space for Rough Work / 8.0 302‘;3; o
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656. The appropriate reagent for the following
transformation is

0]
|
Q’/\ (‘_}H3 Ll /Q/\ CH3
HO HO
(A) Zn-Hg/HCI]
(B) HyN - NHy, KOH/ethylene glyeol
(C) Ni/Hy

(D) NaBH,

57. In the following reaction

CH,
CrO,Cl H,0
rf'(

2 Z:X 3

Cs, =a

the compound Z is
(A) Benzoic acid
(B) Benzaldehyde
(C) Acetophenone

(D) Benzene

56. @ 3WNY TomIrInd, Bevordd Rog
$0InE08 Ry

0
I

(Yo (Y
HO HO

(A) Zn - Hg/HCl

(B) HgN - NH,, KOH/ethylene glycol

(20 7, ™)
(C) Ni/H,

57. 8% 8YNT CRLONB BobeHQ 7 83 oty

CH,
®

Cs,

X Z

(A) 30T AT
(B) Borrdzn
(©  geegRes

(D) Fodes®

Space for Rough Work / .0 #ozi% ﬁ@%‘i
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58,

59.

60.

The reaction of Benzenediazonium

chloride with aniline yields yellow dye.
The name of the yellow dye is

(A} p-Hydroxyazobenzene
(B) p-Aminoazobenzene
({C) p-Nitroazobenzene

(D) o-Nitroazobenzene

The glycosidic linkage involved in linking
the glucose units in amylose part of
gtarch is

(A) C;-C, p-linkage
(B) C;-Cgo-linkage
(C) Cy-Cgp-linkage

M Cq-C4 «-linkage

Ziegler-Natta catalyst is used to prepare
(A) Low-density polythene

(B) Teflon

(C) High density polythene

(D) Nylon-6

58.

59.

3o Z%E:ﬂt‘&raeacmo ﬁ@%m‘*&’ﬁao&ﬁ
DO (Aniline) =3FATN S’J&&)E‘%ﬁ E%
u3goinrogs. ¢ B0 @ (Dye) o BI

(&) p-FRrsivinuios

- (B p-eﬂﬁ%dmwzﬁmﬂozsa‘_

© pFEncntions
D) o-Jipeennuions

Tres ORI enad, ngees
0N NTREY,  wodAToR 1}, BeeR R
20073 O3eIHTO 7

(A) C; - C4B-linkage

(B) C;-Cga-linkage

(C) C; - Cgp-linkage

(D) €, -C4o-linkage

B dodod oind AR, IodRORL
0T 3w, SenSBraRR),

, S0TC3RENROTIT ?

(A)  ©OPOTOY, TOPT
(B) gy
(C) w3mog, mOPT

D) . a’g,ma‘-s

Chemistry
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1. The timing and marks printed on the OMR answer sheet should not be damaged / mutilated / spoiled.

2. The 3" Bell rings at 2.40 pm, il then;

s Do not temove the seal present on the right hand side of this question booklet.
e Do not look inside this question booklet.
¢ Do not start answering on the OME. answer sheet,
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choices.}
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e  Choose the correct answer from out of the four available distracters (options / choices) given under each question / staterment.

s  Completely darken / shade the rejevant circle with a blue or black ink ballpoint pen agaiust the question number on the OMR
answer sheet.

BociRd 3= 33, 3=riL WRONG METHODS
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@ ® © Oleeped® ®@@0

Please note that even a minute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the scanner.
Therefore, avoid multiple markings of any kind on the OMR answer sheet,

Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the same.

After the last bell is rung at 3.50 pm, stop writing on the OMR answer sheet and affix your left hand thumb impression on the
OMR answer sheet as per the instructions.

Hand over the OMR answer sbeet to the room invigilator as it is.

Afier separating the iop sheet (KEA copy), the invigilator will return the bottom sheet replica (Candidate’s copy) to you to carry
home for self evaluation.

9. Preserve the replica of the OMR answer sheet for a minimum period of ONE year.

10. In case of any discrepancy in the English and Kannada Versions, the English version will be taken as final,
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1. If |x+5] 210 then
(A) x€ (-15,5]
(B) x€e(-5,5]
(C) x€(~9,-15] U [5, )
(D) x€ [-¢,-15] U [5, «)
2, Everybody in a room shakes hands with

everybody else. The total number of
handshakes is 45. The total number of

persons in the room is
A 9

(B) 10

C) 5

D) 15

3. The constant term in the expansion of

1.

2.

|x+5] 2 10 &x0

(A) xe (-15,5]
(B)
(C)

(D)

x€ (=5, 5]
X € (=0, — 15] U [5, =)

X € [— o0, —15] U [5, =)

o> 8R3RILOME Poodey, gy
Sdgn R BT AT, 1
TIOPBNY Do, 45 =88 o
BRBRONYTOR 2833 AN Noad o030

(A) 9
(B) 10
C) 5
(D) 15

1\ _ '
[xz __2) 3 omode, =g 0
=

(eqﬁm ?&d ﬁd) ™)

A 8¢, @ e,
B) ¢, ® ¥,
©) ¢, © 1,
@ *Cyy @) ¢,
Space for Rough Work / .05 3@:-'3% 3
Maths (2-A)
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4, If P@m): “2?" - 1 is divisible by k for all
n € N”is true, then the value of 'k’ is

(A) 6
B) 8
© 7
(D) 2
5. The equation of the line parallel to the
line 3x — 4y + 2 = 0 and passing through
(-2,8)is
(A) 8x-4y+18=0
(B) 3x-4y-18=0
(C 8x+4y+18=0

(D) 8x+4y—18=0

=
6. If (——J = a +ib then(a, b)is
1+

A 1,1
B 1,0
© 1

(D) (0,-1)

5.

Pm):“2™ - 1,k 208 N3eREs
Vne N”. 8 B8 Quonsg & od e
(A) 6

B) 3

€ 7

D 2

3x - dy + 2 = 0 SRt ARPTCITTNRY,
W) (-2, 3) WS BB Tt
TN ROFTesS oty BREBTHY)

(A) 8x-4y+18=0

(B) 3x-4y-18=0

(©  8x+4y+18=0

D)} 3x+4y-18=0

1-i 96
(_;IJ = a +ib 8T34(a, b) I 3

1+

A Q1
B Q0
© O
D) (©,-1)

Space for Rough Work _f wWTED 3@:@ %5#

Maths - (3-A)
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The distance between the foci of a
hyperbola is 16 and its eccentricity is +2.
Its equation is

(A) x*-y?=32
2 2
AN SV

(B) P 5 1

©) 2x%-8y2=7

D y-x2=32

The number of ways in which 5 girls and
3 boys can be seated in a row so that no
two boys are together is

(A) 14040
(B) 14440
{©) 14000

(D) 14400

If a, b, ¢ are three consecutive terms
of an AP and x, y, z are three
consecutive terme of a GP, then the value
of xP¢, yt-o, pa-b g '

200 FHodend Sopnd  SRDS
50307y 16 =) WO SuBeorBodn V2
SNGS, ¢ad Raoesta)

A) x*-y*=32

Xy
® 1
©) 2x%-8y’=7
D) y*-x*=32

[ ]
b

5 TRNDT TR 3 BRI 2.0
WOZY, BeORTRNS cRFEe 0B
Do ey acEod  eHvdy
EROBWBITNT b3, DB Ross,

(A) 14040
(B) 14440
(©) 14000
(D) 14400

a, b, ¢ nsL AP 03eom3Y) FRoen WA
= ﬁdﬁ%ﬁd% Tone x, v, z N GP
eviolelntols IR AN T SR N o v SR STt o
;ﬁdﬁ%ﬁ%dxb_c. ¥R, 2270 238

A 0 A) 0
(B) xyz (B) xyz
© -1 © -1
D 1 o 1
Space for Rough Work / TR 30#% %#
Maths @-A)
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10. The valae of hm LZKJ is 10.
x—=0 X

(D} Does not exist

11.
11. Let ﬂx):x-% then f(-1) is
(A 0
B) 2
© 1

o -2 12,

12. The negation of the statement “72 is
divisible by 2 and 3” is

(A) 72 is not divisible by 2 or 72 is not
divisible by 3

(B) 72 is divisible by 2 or 72 is divisible
by 3

(C) 72 is divisible by 2 and 72 is
divisible by 3

(D) 72is not divisible by 2 and 3

tim El eag3s o

(A)
(B
(©)
(D)

fix) =

(A)
(B)
©
(D)

“72

- x50 X

1

-1

0
RITODBAY,

x~ L &g £(-1) ot
X

0
2
1

-2

S0%W Fogjodw 2 FWI 3 doB

PARORIFE.” BePdods FFO)

(A)

(B)

(&)

(D)

72 @ow  Rodjodnw 2 ool
PNROBROY, “TPm T2, 200
Roag,0d0 3 000 IRNRURROY,

72 20w RoLodo 2 00T
PATORZE T 72 QoW
R0a3,030 3 doT GRNRORIZTS

72 200 ReZodw 2 0B

" ooyt $hd 72 ot Aoadodn

3 0083 YPNRORZS
72 0w Roadodw 2 FF 3 dow
PNIOBROQ,

Space for Rough Work / 8.0 GQS%%# :
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13. The probability of happening of an event
A is 0-5 and that of B is 0-3. If A and B
are mutually exclusive events, then the
probability of neither Anor Bis

(A 04

(B 05

cy 02

(D) 09

14. In a simultaneous throw of a pair of dice,

the probability of getting a total more

13.

14.

PLT A 030 DoylEecdE 0-5 [oB) Pesd
B o3 Rogdmeodd 0-3 sy, A 333 B
i¥oEn WoIP WMBIFE PLSHVNGS.
A 3p @97, B 80 6@ Jogadeoixdoin

(A)
(B)
(©
(D)

0-4
0-6
0-2
0-9

NROBY, SOR> TN RGN,
TMRTS Wi, BeFF) 7 303 T

LR BaBehwmmt BopanecdEodn
AT
L 7
@ = W =
5
5 © =
(8} =5 12
D) —
aley 36
(D) 36
15. If A and B are mutually exclusive events, | 16. P(A) = i;-, P(B) = é ST, A A B
given that P(A) = =, P(B)= =, then|  woRs sode@d  pudnd  engd,
P(A or B) is P(A 2550 B) & eIedadn
(a) 08 (A) 08
(B) 06 (B) 06
(C) 04 (C) 04
D) 02 (D) 02
Space for Rough Work / w08 a’oﬁ'% By
Maths (6-A)
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16. Let f g: R — R be two functions [16. ) xe R aeR, f, g: R > R oow

RS e TP e s e 20B> GUBFRER) fx) = x| + x R
gx) = |x| - x V x € R. Then (fog) (x) for = .
: g(x) = |x| - x Q0 @I&%@%mﬁx<0

x<0is
(A 0 Ron (fog) (x) OOT
(B) A @ o
- (© - 4x (B) 4x
(D) 2x : (C) -4
(D) 2x

17. A is a set having 6 distinct elements. The 17. R0 A @owomd 363 133 6 REmRosnd a,gt

number of distinct funetions from A to A
which are not bijections is BpoDT. A oDord A T wﬁmiew.dd%d

(A) 6'_-6 23¢3 23¢3 w:e’ﬁr{%* o,
®) 6°-6 | e
(©) 6%-6 B 6%-6
(D) 6! © 65-6t
(D) 6!
18. Let f: R — R be defined by ox x>
2x ; x>3
J 18. f:RoRD Aw=1x2 : 1<x<3
fly=1x2 ; 1<x<3 i
3x y x=sl
BS“ Sy s 0B TIRRRGY, f-1) + A2) + f4) 3
Then f-1) + f2) + f4) is 3303
(A} 9 A 9
(B) 14 B 14
©. b (C) 5
0y i D) 10

Space for Rough Work / .88 GOH% 3‘;@

Maths 7 -A)

58



19, If sinlx+cosly= %E , then

cos™! x + sin~! y is

2n Ir
(A) = (B) ra
dx 3n

20. The value of the expression
tan(% cos 1 %} is
Q) 2-45
B) 5-2

VB -2

(&) TE

D) 5-2

2 -2
21, If A=[ J then A® = 2Ka

19.

20.

gin~1

cos ' x +sinl y 3 PSodo

' 2% 3n
(A) = (B) —
4 3n

) 5 (D) 10

1 43 2
tan[a cos '—E] d 236

A 2-48
B 5-2

J5-2
2

o

(C)

D), 5-2

X + cos y = % lpiats

2 -2
iy Al _ gk
3 ; 21. A—[_z 2} eheh A" = 2°A ©dd
where k = k=
(A) 21‘1—1 (A) 211—]
(B) n+1 ®) n+l
C -1
Sss © n-1
(D) 2n-1)
M) 2m-1)
Space for Rough Work / 2.8t #ozﬁi %ﬁ‘
Maths 8-A)
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1 1) |x 2 1 1| [x 2 "
i = . = (o] =02
22. If [_ 1 1] [y] |: 4i|, then the values | 22 [_ 1 1] [Yi| [4] €5 x ) y 3
of x and y respectively are LIS gomon
A) -8,-1 (A) -8,-1
B 1,3 B 1,3
€ 3,1 G 81
Dy -1,3 o -1,3
23. If A:["",EmL Sma},thenAA’= 23, A=[°°.s°‘ Sin“] 00 AA’ =
—S8in o Ccos 0 —Sin cOS O
(A) A A) A
(B) Zero matrix
(B) _S.chg Bres
C) A
(C) A
Dy 1
D)y 1 © I
24. If x, y, z € R, then the value of
e 24, x,y,zc R esoon
(51{ + 5—x )2 (5X . 5—x )2 1 (5]{ + 5—X )2 (5}{ - 5—! )2 1
6* +6)2  (6*-67) 1 6*+67%)2 (-6 1| IS
G G T | @72 (-T2 1
(A) 10 A4 10
(B) 12 B 12
c 1 ) 1
™ 0 ® 0
Space for Rough Work / ¢.0t 30:3% %ﬁ#
Maths (9-A)
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25, The value of determinant a-b b+c a

a-b b+c a 25. |b-a c¢+a b| APFTES t3Sodn

b-a c¢c+a Dbl is c~-a a+b ¢

c—-a a+b ¢
(A) adind+ed
@A at+pd+cd

(B) 3abe
(B) 3abe
©) ad+1b%+c®—3abe (©) a®+b3+c>_3abe
(D) 2%+ b + ¢ + abe (D) a®+ b3+ 3+ 3abe

26. If (Xl’ ¥1) (Xzs ¥o) a.nd.(x3, .Yg) are the 26. 2,00 %ﬁ)ﬁd % onnsh (xl’ ) (xz, ¥y)

vertices of a triangle whose ar;a is ¥ B (x4, y4) SNS. & PuT Hyerr K
X y1 4 2

‘ N 4
W0 TSRS (29 yo 4| S8

square units, then [x9 y9 4| is

X3 ys 4
. X3 ys 4
e (A) 32k®
(B) 16k? B 16K
(€ 64Kk . ©) 64K
(D) 48k* (D) 48Kk2

27. A Q0T 3 x 3 TOIReT

7. LetAb ix of 3x8 A
2 \ be a square matrix of order 3 x 3, dﬁ?i@fﬁmh%d,ﬁM:

then |5A| =

(A) B|A] (A) 5]A|
(B) 125)A| B) 125|A|
(©) 25[A| ©) '25|A1
(D) 15)A] (D) 15|A]

Space for Rough Work / 8T eoﬁ% z‘f;#

Maths (10-A)

61



28, If

fix) =

is
(A)
(B)

()

D)

J1+kx—:\/1—kx if —1<x%<0
X

sl if 0<x<1
x—-1

29. If coesy=xcoe(a+y) with cosa=11,

(J1+kx - J1-kx
X

280. ﬂX)"—"‘
2x+1
x-1

if

3 x = 0 3O, 03 STk 3

taalevil)

(A) k=1

B) k=-1

(€C) k=0

D) k=2

29. cosy=xcos (a+y) 03 cos a# 1 N

if —-1<x<0

dy . . ..
then — is equal to dy 4,
dx - RN
@ % @ _sine
cos“(a+y s +3)
! 2
cos“(a +y)
B — 20 o
Sin a (B) cos .(a +y)
sin a
cosa
O
sinz('a +¥) Q) 02°$
sin“(a +y)
2
(a+y)
o ==Y 2
cosa @ 8 (a+y)
cosa
Space for Rough Work / 2,083 30:-!53* i
Maths (11-A)
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30, If fx) = |cos x — sin x|, then f’(%) is [ 80. (%)= |cos x - sin x| emﬁf'[g] S o363

equal to

@ -2+ 5)
® - a+3)
1
© -2 0-48)

(D) %(1-\/5)

(A) -% A+ 43)
1 .
1
C - 3 1-+3)

(D) %(1--\/5)

31. fy= JK+'X+\/X+---M, then %= 31. y=Jx+,(x+,/x+;..m ﬁ@ﬁ%:

1
(A) 1
v2_1 (A) 2l
1
B t
® o1 B 1
2y +1
=2t 1
yo- 2y
©) =
yo -1
@) =
Zy - 1
(D) 2y -1
Space for Rough Work / 2.0 3ond B¢
Maths (12-A)
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log x log, x
e ; x#1 ;o x=z1
32, I fx)=4x-1 is 82. flx)={ x-1 V3T x = 1
k . x=1 k : x=1
continuous at X = 1, then the value of k is d%w&)zﬁﬁmﬁ%ﬁ, k3 %3(:‘30‘1;)
(A) e B) 1 (A) e B) 1
¢ -1 D) 0 © -1 @) 0
33. Approximate change in the volume V of a 33. PIFoTT T x € uﬁd% o 3%
cube of side x metres caused by increasing Eézaaz}ﬂoé g FIPed V oo
the side by 3% is (approximate) WTEIBECI0
(a) 009 x*m? :
(4) 009 x%m?
B) 003 x°m? g o
(B) 003 x°m
© 006x3m® .
(©) 0-06x°m
D) 004 x%m? e
(D) 004x°m
84. The maximum value of [l] is 1) __
X 34, (—] & now WYeoan
2 _
A e
- A e
(B) &°
(B) e°
(C) eUB
(C) elle
le
D) [ﬂ L\be
E (D) [—]
e
Space for Rough Work / LT wﬁi %é*
Maths (13=A)
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35. f(x) =x* has staticnary point at 35 fix)=x*3 FRO0e WO
1
= B =

(A) x=e B) x= (A) x=e B) x %

0 |=

© x=1 D x=e
(€) x=1 D) x=4e

- 36. x+ 1%+ G ~9%=64 FIFY zo0c>
36. The maximum area of a rectangle &?Qi‘)gdd% SoBder TR, & o0

inscribed in the circle nOF Pyersr sy
(x+ 1%+ (y-3%=64 is

(A) 64 sq. units (A) 64 sq. units

{B) 72 sq. units (B) 72 sq. units
(D) 8 sq. units
(D) 8 sq. units
37. I ” L < dx is équalto 37. I 3 2 — dx fadﬁ;ﬁabmhcs
+e : +e
et +1 [e* a1
A log, = ] +c (A) loge{ — | +¢
c e J .
X1 ex =1
(B) log, ] +c (B) log, — | +¢
e y \, e
s ex | ex )
© lo e © Io +c
ge\e"+1J gekex+1,
\
e* e*
(D) log, = _1] +e (D) log, o1 t+c

Space for Rough Work / w530 30‘&‘% 4
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38. J. dx 1sequalt0 88. J. : dx =0 ¢3¢
\}3 6x — 9x2 3-8x-9x
. 1 3x+1
(A) sin 1[—2—‘]"'0 (A) _1(35 1)-‘_
. —1(3x+1
B e [ 6 )+c B) 'l[3xﬁ+l]+c
l , -1{3x+1 |
() 3 Sin [_2 )+c & . [3x+1']
3
(D) siﬁ_l[zx+1]+~c
. D) sin'1(2x+1]+
3
39. Ieﬁnx.(%—l]dx 1sequalto
39. I gsin [“““]axmwom
: . sec x
(A) sinx.e™ 4¢
_ (A) smx.e *¥e
(B) cosx.e"*4e .
(B) cosx.e™*4c¢
(C) 0% 4¢ © S9%4g
M PX@Einx+1)+c D) ePE@Enx+D+e
2 &
40, j | x cos nx | dx is equal to 0. I | % cos mx| dx =
8 4
(A) i B) - (A) - (B) =
. 1 e L
() = (D) = ©) = {D) z
Space for Rough Work / udm%ozkg 2
Maths (15=A)
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X

1
41, J. . is equal to 41,
e* e ¥
0

(A) g — tan™1(e)

-1 __E
(B) tan™ (e) 2

(©) tan~l(e)+ -;3

(D) tan~l(e)
o .
= -! a+ x;)b:/l e WS 42.
o o
(B) % tan~! [-%J
© -"2—§ tan_‘l[_—Z-J
o ()

43. The area of the region bounded by the
curve y = cos x between x = 0 and x = 1t is
(A). 1sq.unit (B) 4 sq. units
(C) 2sq.units (D) 8 gq. units

D) tan~1(e)

2
| =
A +x%) \lll-xz__

(A) 71_2— tan-'l‘]-g
(B) % tan™! i-%]
© g tan~! 3]
——

y = cos x ®g8¢8, x = 0, x = n NV
uPTans JBeBE dyeedrTy .

(A) 1sq.unit  (B) 4gq.units
(C) 2sq.units (D) 3 sq. units.

Space for Rough Worlk / 8.0t domg B

Maths (16 - A)
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44. The area bounded by the line y = x, x-axis

44. y = x AO9Ted, x- O, x = -1 WA x = 2

and ordinates x = -1 and x=2is 0T SR FRNG DD
3
2
5 5
- ® <
C 2 ) 2
45. The degree and the order of the
ML - aty |V |as S g {ﬂf ©TBO3 3690
differential equation o2 31 +[E) dx2 dx
respectively are T@ee BB BrEriso Foeen
(A) 28033
(A) 2and3
B) 332
(B) 3and2
| © 232
(D) 3and3
6. x _y - 3, 3 exe03 ANt
46. The solution of the differential equation dx ,
x% -y =3 represents a family of TEVPRIE BkIOW
(A) straight liﬁes (A4) =3 Seadnieh
(B) circles (B) %gﬁ@b
(C) parabolas (C) soswodrish
(D) ellipses (D) Oeps HINd
Space for Rough Work / 2.8t 3vmg 3¢
Maths (17 = A)

68



47. The integrating factor of % +y= l+y

X
18

(A) xe*

(B)

© <

o =

- P T
If {[axb|®+|a.b|*=144 and
- Ay -
| a ] =4, then the valueof | b | is

A 1 ®B) 2

C) 3 o 4

- -.
49. If a and b are mutually perpendicular

unit vectors, then

- S > >
Ba+2b).ba=6Db)=

47.

49,

dy , o - “Ty eRI08 Zn0edded

RV SDRIY

(A) xe®

B) xelX

ex

X

©

X

e

0))

- = - - .
laxb|®+|a.b|?=144 DR
- >
|a|=4emr|b| gt

A 1 (B) 2

(C 3 D) 4
a ®R b b BRG oow o9

_ = .
AOBNTTT, (3 a +2_b)).(5_a) —63) =

(A) 5
(A) 5
B) 3
(By 3
(C) 6
C) 6
D) 12
Dy 12
Space for Rough Work / 2,53 i@#ﬁ} Ry
Maths (18 - A)
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S m A A A A A A
50. If the vectors ai +j+k, i+hj+k

>

A A A A A
i+j+k,i+bj+k N

500 1
and i+ j+ck aré  coplanar 1+ +ck Sosmeb ot
(a#b#ec=1), then the value of ﬁdﬁ@d@dﬂ @#b#csl)
abc—(a+b+c)= ;i I i
abc—{(a+b+c)=
(A) 2 (A 2
B -2 B -2
(C) 0
(Cy 0
o) -1
Dy -1
- A A A - A A A
g iy " A > A A A8 a=i4+2rj+2k; b=pi+ j-k
Bl. If a=i+Aj+2k; b=pi+ j—-k - : - - -
3 el ©ow RESRPNGEY [ a | = [ b| ©ATK
are orthogonal and | a| = | b | then
O, ) = L (A, W) =
1 7 1 7
A) [Z’ Z] (A) [Z, Z]
i !
® |-, —J 7 l]
(1 QJ
(C) s =
4" 4 (03] [l, gj
4" 4
: -1 9
(D) [—, —)
e D) [:1, 2)
4’ 4
Space for Rough Work / 8.8 so'xﬁ L
Maths (19-A)
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52. The image of the point (1, 6, 3) in the line

4 1,07
B) (7,0,1)
© 2,70
(D)

The angle between the lines 2x = 3y = —z
and 6x=—-y=—4z is :

A 0
(B) 45°
© 90°

D) 30°

The value of k such that the line

52.

53.

b4.

2_Y1_2-2 segand @, 6 3
i 2 3 ¢
WOTDHAT VoD

(A) (1,0,
B) . (7,0, 1)
© 2,7,0

D) (-1,-6,-3

2% = 3y = — z DBY 6% = — y = — 4z FeBRG
SBIDT BT

4) 0°

®) 45°

©) 90°

D) 30°

2x -4y + =7 I3 Doees

x—4_y_2__z— ) . x-4 y-2 z-k N .
Tt 3 lies on the plane T Teadod amn
2x—4y+z=1T is k 3 33030
B) 4 B) 4
©y -4 € -4
D 7 D) 7
Space for Rough Work / %04 3038 ¢
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55. The locus represented by xy+yz=0is |55 xy+yz=0 @3?3@&5 RVPD) BSRPRODTO

(A) a pair of perpendicular lines A)  word ¥nd ©ow Sednh

(B) 2 pair afpacalielllines B) 0B tind ZEReIS Seadnsd
(C) a pair of parallel planes (€) 0w wind I=RoT R=3ensh
(D) a pair of perpendicular planes (D) 2080 Hnd ©ow BZoried

56, The feasible region of an LPP is shown in | 56, 33 LPP 03 Qeate* BWeBRR,
the figure. If z =3x + 9y, then the 2REDAHNT. z = 3x + 9y 030 U’EDE%
* minimum value of z occurs at 330t d%. Ro0D0 BOER

A) 5,5)

@ 6,5
(B) (©,10) & (G0
©) ©,20 © (©,20)
®) (5, 18) @) (15,15

Space for Rough Work / 2.0 G@ﬁi #&#
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67, For the LPP; maximise z = x + 4y subject | 87. z=x + 4y BK’% X+2y <2, x+2y > 8§,
to the constraints x + 2y <2, x+ 2y 2 8, X%y =20 JWOTINOR w¥mied ﬁﬁ%
x,yz0 . ] e

. nedaton sl
(A) =z =4
max @ z, =4
®) 2, =8 B) z, =8
©) .z, =16 ©) Zyge =16
(D) AW ZRORTET OO
(D)} Has no feasible solution < s XFoe,
58. For the probability distribution given by QIO WoINecHIon,  FWNTod
L IoTe.\antaTa]
X=x% | © 4 - X=x | o 1 2
T I R e p, | B | 5 | 1
36 | 18 | 3 L e | e
the standard deviation (o} is SN INTE DB (o) o
1
A i
CY @)y b
3
16
B) =.= 15
3¥2 (B) § —2-
5
(C) — 5
C &
36 (C) 36
(D) None of the above D) RedT IRPER 56
Space for Rough Work / %5t 30.#% i
Maths (22 -A)
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59. A bag contains 17 tickets numbered from | 59. %00 WeoBY 1 00T 17 ﬁo&%ﬁ@d&
1+to l117. A t]i:ket ifh. drawn ath randoml, then BROOTHN 17 2368insd ¥33. ©TI, 1.0
another ticket is drawn without replacing
the first one. The probability that both wewwa@t m%@mﬁ 3N, Fosg
the tickets may show even numbers is BeBede  Betd wWRD wde QTEIe

7 WerSoRy, 3riodennd. wO@R  teksod

W 3 Roroad R EpeoRoD ogadeotgod
8 A 7
(B) 7 @) 34
, 8
7 B —
o = 17
(C) 16 .
') D
7 © 16

Dy —

1 ™ -
17

60. womo WA DDy 10 mééé@ﬁ%‘fﬁgt

60. A flashlight has 10 batteries out of which Boodsd SPYY. 4 ABerRnsd
4 are dead. If 38 batteries are selected =, 80nYy Bdmasd 3 mgwbﬁ#&
without replacement and tested, then the : ' ; - 2 %‘l:
probability that all 3 are dead is Gﬁ%ma ToegRTan 2335&:36

- QerBeondom FoPRReodB
1
A}
Y %0 @
30
2
®B) = 2
8 (B) =
1 1
(C) 1B (©) 5
1
' 1 D —
(D) 0 10
Space for Boﬁgh Work / 2.0t '1?938; g
Maths (23-A)
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Serial No. COMMON ENTRANCE TEST - 2018 VERSION CODE

DATE SUBJECT TIME
18-04-2018 | BIOLOGY | 10.30 am to 11.50 am

MAXIMUM TOTAL MAXIMUM TIME FOR
MARKS DURATION ANSWERING
60 80 Minutes 70 Minutes
MENTION YOUR CET NUMBER "IIHM“I'"I"I]

Dos:

1. Once again confirm whether the CET No. and name printed on the OMR Answer Sheet and the Admission Ticket are same.
2. This question booklet is issued to you by the invigilator after the 2™ bell Le., after 10.30 am.

3. Confirm whether the OMR Answer Sheet and the Question Paper issued to you are with same version code.

4, The Version Code and Serial Number of this question booklet should be entered on the Nominal Roll without any mistakes.
5. Compulsorily affix the complete signature at the bottom portion of the OMR answer sheet in the space provided.

DONTSs:
1. The timing and marks printed on the OMR answer sheet should net be damaged / mutilated / spoiled.
2. The 3™ Bell rings at 10.40 am, till then;

¢ Do not remove the seal present on the right band side of this question booklet.

¢ Do not look inside this question booklet,

¢ Do not start answering on the OMR answer sheet.

IMPORTANT INSTRUCTIONS TO CANDIDATES

1. This question booklet contains 60 questions and each question will have one statement and four distracters. (Four different options /
choices.)

2. After the 3™ Rell is rung at 10.40 am, remove the seal on the right hand side of this question booklet and check that this booklet
does not have any unprinted or tom or missing pages or items etc., if so, pet it replaced immediately by compiete test booklet by
showing it to Room I[nvigilator. Read each item and start answering on the OMR answer sheet.

3. Dwring the subsequent 70 minutes
»  Read cach question carefully.
= Choose the correct answer from out of the four available distracters (options / choices) given under each question / statement.

s Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the question number on the OMR
answer sheet.

CORRECTMETHOD |0 @ @ ® @ ® O F OO OO
@ ®CPOloaepow ®®O00®

4. Please note that even a minute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the scanner,
Therefore, avoid multiple markings of any kind on the OMR answer sheet.

5. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR answer sheet for the same.

6. After the last bell is rung at 11,50 am, stop writing on the OMR answer sheet and affix your left hand thumb impression on the
OMR answer sheet as per the insiructions.

7. Hand over the OMR answer sheet to the room invigilator as it is.

8 After separating the top sheet (KEA copy), the invigilator will return the bottom sheel replica (Candidate’s copy) to you to carry
home for self evaluation.

9. Preserve the replica of the OMR answer sheet for a minimum period of ONE year.

10. In case of any discrepancy in the English and Kannada Versions, the English version wil! be taken as final.
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1,

The correct sequence of taxonomic
hierarchy is

(A) Genus — Family —» Class = Order
— Phylum — Kingdom — Species

(B) Species > Genus = Family —
Order — Class — Phylum —
Kingdom

(C) Species — Family —» Genus —
Kingdom — Order —» Class —
Phylum

(D) Species — Genus — Family —» Class
— Order —» Phylum — Kingdom

Match the animals of Column I with their
respective classes in Column II and
choose the correct answer.

Column I Column IT
1. Aptenodytes 1. Aves
2. Hemidactylus II. Chondrichthyes
3. Carcharodon III. Mammalia
4. Pteropus IV. Reptilia

Y. Osteichthyes

Select _the code for the correct answer
from the options given below :

1 2 3 4
Ay V II v I
B) I IV III II
) V I IT III
Dy 1 v o 11

JINeTTTED m#écﬁ NN BoBNY MOSRT -

2063 B3 Ded 7T

(A) BRI — YWD — RNI° — VBFO*
— FORTF - WRERYK, - JPed

B) TIPed — BRI - WD -
URFT - B}F o PO
ORI, ,

€©) Ted - FHWO - BIFT -
WRRRE, — GO - B -
PO

D) Teded — ReI™ - T - TF*
— UBFO - FoRT — RW,

oI 1 CQOT Tesnesy, Towe 11 Qo

S[he () fof Eeen Beods,

#Qoﬁndzdaﬂ% woﬁ:ﬁ:a@.
DO T | PO IT
1. wéﬁmet%w I TIFnsd
2. &mmiﬂm‘ II. %@%@om’oﬁ%
8. RTHRTREIIL IR
4, 3eBRDT Iv. ﬁo%ﬁrﬁb
V. Sandaoesngh
R08eENY AIODRE RO YOFTNIRY, SO :
1 2 3 4
A V II I\ I
(B) 1 v 111 1I
Cy Vv I II III
m 1 v IT I

Biology

Space for Rough Work / .00 foﬁiﬁ %@
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8. Choose the correct floral formula of the | 3. <%, &raéidad g RoBeordes DR,
given floral diagram. ARZEI BoHBIRE.
<R’

@& o §§ K219 C4 Mgz Gog)
A) ® § Kig+9) C4 Agug gy —
F ®B) ® é Kigyi2 C1 Ay Gigan)
B) @ § K),p Cohy Gy
€ o § Kii3 Cq Agq Go)

(O é Ko+2 C4Az.4 Gia)
D) & é K2+2 04 A2+4 G2

Dy & é Koia CihAgy Gy

4. 0IRT WY WoBT'IY, o I

4. In which type of vascular bundles are
TREIONED 2otie 2 BATHTR

Xylem and Phloem present at the same

radius ? (A) TBeRodhor
(A) Radial

B) DY3
(B) Closed =
(¢) Conjoint (C) BODOOEF
(D) Exarch

D) @TFF

Space for Rough Work / 2.0 #sz% g
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Conjunctive tissue is present between
(1) and (i) in (i) .

(A) (D Pericycle (ii) Endodermis
(1ii) Dicot root

(B) (i) Xylem (ii) Phloem (iii) Dicot root

(C) (i) Palisade parenchyma (ii) Spongy
parenchyma (iii) Dicot leaf

(D) (i) Xylem (ii) Phloem (iii) Dicot stem

Identify the major site of biosynthesis of
lipids.

(A) Golgi apparatus

(B) Mitochondria

(C) Smooth endoplasmic reticulum
(SER)

(D) Rough  endoplasmic reticulum
(RER)

The following graph shows concentration
of substrate on enzyme activity :

v

max

What does the Y-axis represent ?

(A} Temperature

6.

t’ouﬁj@m‘ woreodmy () @B () 3

R@omd (i) - 8¢ BoBxeIseda.

(A) (i) FOFFE” (i) 2oBRBAF
(iii) HIY R TeIecd

(B) () oo (i) Ppgodo (i) BEY I
e

© () mWOIer w0 YD (i) Tope
TR0 &> (i) YR AT ¢S

D) (i) oo (i) FPpeodo (i) HEIY F0R

BRwDTA GTNRERY, WOORE 2N
rOTHSR.

A) ™Y eTSes

(B) R[yeesoRcIn

(C) RO DoRBRTRT TLIv,wRT* (SER)
(D) 2Ot DOWRTPYT® TLIE) T (RER)
B9R dntitos Sfcdn frepd WdeesoD
B¢ oINPT TAIS  TOTIODY,
R3OS

28, Y-t 08 IR ?

A ogd
(B) Velocity of reaction ®  godham Ser
(C) pH © pH
(D) Pressure D) w3
Space for Rough Work / 2.3 %’Qﬁ; it
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8. In the maize plant, COq fixation occurs in | g, ﬁgﬁugg@g@ g;%;j RS DI woBeF
z‘c:h mesophyll and bundle sheathllcelgs. ées‘imeejri@dza’de@, “&0??6033-:%—'3:@3‘
e enzymes involved in these cells for
the process respectively are, SoeThoids ddm@d‘ S E"jgmmq
(A) RuBisCO and PEP Kinase TERKOR Searieh, SYRTIN
(B) PEP Kinase and Pepsin A) d:z::ﬂ.r%doég Bz glex
(¢) RuBisCO and PEP Carboxylase B Jar FSex¥ 203 B’
(D) PEP Carboxylase and RuBisCO (© Towda SR Ja® Twor e
(D) I Torsges 3= ouke
9. Inthe following reaction, identify Xand Y | 9, 83 $9AS comoods $odocdd)
respectively : R8,03mON X BB Y C1S) SodERa :
2+
Pyruvic acid + CoA + NAD* %-» 5058 ity + Coh + NAD® M§2+
Y + CO, + NADH + H* . Y+CO,+NADH + H*
(A) Water, Acetyl CoA A e, 62"%@ C;A
eae3er C g
(B} Acetyl CoA, Pyruvate (B) % OA’___?‘
dehydrogenase BeFBRBIeT
(C) Pyruvate dehydrogenase, Acetyl (YR em e Ll e o
CoA CoA ]
-
(D) Pyruvate dehydrogenase, (D) FHoosets® BHREAWIC, wBgine
Oxalo-acetic acid CONEITE &)

10. Which of the following factors is |10 TSRS @;ﬁm@d migmmmwm@q
favourable for the formation of (vOpineg) B WS RS 803
oxyhaemoglobin in the alveoli of es8BocRRerRIDT BRRRRYes
human lungs ? ay { _ K

(Wééoinﬁﬁn) BBROTITONT ?
(A) High pCOy o
PRI (8 oy (A) B0 pCO,
e
ower temperature R ,

(C) High H* concentration ©) ﬁzﬁ:{?ﬁ) " woRE
(D) Low p02 (D) ﬁm P02

Space for Rough Work / .33 30:53* g
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11. Digestion of both starch and proteins is | 11. &% (Ww'r) I Fpeandord
earried gut by enzymes:of 22eear 30300300 AT $r9@or Stz
(A) Gasjtnc Juice (A) w30 d3
(B) Sa.alw'a. (B) epem o=
(C) Bile Julce‘ B © &30
() Pancreatic juice D) @regneeds 33
12. The type of epithelium found in the inner 12. PCT =90 eoz!caaids@cﬂeﬂmdoﬁ RS
lining of PCT is LIOTWOZ
(A) Squamous epithelium (A) ), 653;-56 eanedens
(B) Cuboidal epithelium (B) PTYS vIeT?
(C) Glandular epithelium €©) nodeod WRSeTs
(D) Ciliated epithelium D) d@@m%s eszsedeTe
13. VOTRCLRIRCRT Skl nod 239
13. Select the correct Rh-blood groups of the PR i , A y = =
parents, whose child is affected with RO Fodd Folnv FOIRT  TYE
erythroblastosis foetalis. MOORINTTT 030D B0 ?
(A) Both Father and Mother are Rh +ve A) o @mﬁqa%d@ Rh +ve
(B) glﬁmer is Rh +ve and Father is (B) 00 Rh +ve 23533 305 Rh —ve
P (€) 3ot ownvede Rh —ve .
(8) glc;tl-l_‘lz‘;ther and Mother are (D) 303 Rh +ve B>3) 390 Rh —ve
(D) Father is Rh +ve and Mother is 14. 3 NI oI Road NeR DRy
TEV=1E Doy, DorweanIoRt  (Mabiingr)
' FB0Z TN WTIBS WAZTI0 BrodT 7
14. In which of the following groups do the fog 3 ‘?5’%‘
male and female gametophytes have (A) oz IFRD @BoFy v wew
independent, free living existence ? f Zkiﬂ%b
. (A) Bryophytes and Gymnosperms B)  woabel RFnieh woB T IFND
(B) Bryophytes and Pteridophytes © T AL @Dy emEEven
(C) Pteridophytes and Gymnosperms ﬁ%ﬁ‘b
(D) Algae and Gymnosperms (D) FBon aba) ema3 e Jnd

Space for Rough Work / 2.33) Gwﬁi %@'
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15. The hormones of “Fright, Fight and |15, &, P =03 85 Smoodearish

Flight”
L B) PO R essriness”
(A) Thyroxin and Oxytocin

(B) Thyroxin and Melatonin B) Goosp™ w2y HOKAR
(C) Adrenalin and Nor-adrenalin (€) R3O [ w0 RO
(D) Gastrin and Secretin D) MY = AU

16. .8 dNIINGG, o mede

16. In the given options, which one cannot RoT30eBY INBIRDY,
i 2 _

ooy votabemenns? | gy st simtrdr o
(A marginal piece of bryophyllum -

leaf (B) B\REE o3BG oG emen
(B) A middle piece of sugarcane (C)- suRnEbds seayndh

mte_m()de ‘ (D) 2o0d GRS 2.0%> J00Bd
(C) A piece of potato tuber with eyes
D) A piece of ginger rhizome 17. Joondesond Wi AT Beedrvd

#6@?&&305@603%@&.

17. Among the following statements related Leodl: Bes@ 40 da&gj 8%333@&3 RRNIY,
to pollens, choose the correct one. Zoon Seeannisd 3 2oesne
Statement I: In 40% of angiosperms .

pollen grains are shed at BT, WAMACIRNOZS.
3-celled stage. BB Il : a0eds’ Rpdodw Feydnes®
Statement II ;: Intine is made of cellulose =3y &F 207 SAT, KRFE
and pectin and it is = g
discontinuous with germ elelatyieanh)
Poress ACoBTIATOR DY,
(A) Both I and II are correct (A)  130Z T 0B Teddrisdod JOCWI
(B) Both1 and II are incorrect (B) 13 II OB Bewdndo SN

() Bews I Focdmncy 1T ST
(D) Bewd I SeoNwy 1T FO0IRNT

(C) 1is correct and Il is incorrect

(D) 1isincorrect and II is correct

Space for Rough Work / 2,080 30:_3% 4

Biology (T-A)

83



i8.

19,

Match the animals of Column I with the | 18, ®sye0 I ;bd. 00 II 8 #03 Ipody,

Column II and select the correct options
among the following :

Column I Column IT

1. DNA I. RNA polymerase
replication

2. Translation II, DNA polymerase

3. Transcription III. Reverse

transeriptase
4. Reverse IV. Aminoacyl
transeription synthetase

Select the code for the correct answer
from the options given below :

1 2 3 4
(A) II v I I
(B) 1II v 1 III
© II IIT v I
(D) 1I 1 v IT1

When pollen grain is shed at 3-celled
stage, name the cells it contains.

(A} 1vegetative cell and 2 male
gametes

(B} 2 vegetative cells and 1 male
gamete

(C) 2 generative cells and 1 male
gamete

(D) 2 male gametes and 1 generative
cell

19.

RO 250030, OR :
#eo I Fow0 11
1. 2.25.2. I. S0°.Q8%.a.
SagemRn’ TODTeR
2. T ST I B.OF.Q.
OB
3. WTATT 1L oTFF
TN eR

4, °JIFF IV. o)Bee-vfer
wgdﬂgﬁp R0GEET
RoBe3ny AFHoDOOT 8O SUZTNRV 0 :

1 2 3 4

A) I | \Y 11 1

(B) II vV I III

(C© 1I II1 v 1

D Iom- I v I

BB BeeIBREBNG BOITIE), BOINTLELDT

wemeﬁﬁ#@‘ BROA.

(A) 1 =53e3ee3n® RemBeed, 2 Mo
Someraunsd

(B) 2 J22edesds 3ex3dned, 1 noRd
Sonocad

(C) 2 maCesien® 2eRdned, 1 fowd
DorLVNE>

(D) 2 nod domweaonish o)
1 adeeses 23038 ReD

Biology
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20.

21.

22,

Even in the absence of pollinators,
assured seed set will be there in

(A) Chasmogamous flowers
(B) Geitonogamy
(C) Cleistogamous flowers

(D) Xenogamy

The process of conversion of non-motile
spermatids into motile spermatozoa is
called

(A) Spermiogenesis
(B) Oogenesis
(C) Sporogenesis

(D) Spermatogenesis

Several mammary ducts join to form a
wider structure called

{A) Lactiferous duct
(B) Mammary lobe
(C) Mammary ampulla

(D) Mammary tubules

20.

21.

22,

ToencotEneROToR NeReEIodRy S8
TRAVY, LS TRTLIBOR

(A) WIBMTT BRY
(B) RePBAMR
€) LR B

(D) WeSRMR0

WOTTRD gmrwwﬁe;b zd@do:m«%
Leodrrsonyon WORIFIRAWS
T3,03003 Loert FBOHWBOD

(A) oodpesSnaT
(B) ewdIame
(€) RRTBpedSA

D) ARordneiSvTe

BOFH TRTOO TUNRD Bed eV0EINRIE
LN Suscdornt

(4) RIFoT =¥

(B) RR:0 deerr

(€) RO E30THCD

D) BRID /W[

Biology
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23. The signals for the population process |23. YPYAYY, CTRID TAR3 R’uaﬁébﬁ)d)q
originate from B30 B2
u -

(A) Muscles of uterus (A)  Memr3od mﬂodwﬁ%

(B) @ogpormon W8 e &R
(C) Placenta HTIOL0

(B) Fully developed foetus and placenta

{D) Hormones of ovaries and uterus © %0030

(D) womIodh DR Agersodd

TORREF TN
24. Match the following Column I with
Column I1 :
24, swole:dg{ Fooc I1 rodnt Beoda :

Column I Column IT
‘ oo I o0 IT

1. Surgical methods I. Condom
. 1. ABRFFF 53 I 0RBReEF N

2. Barrier methods II. Pills 2. WWPOONT HeS 11 InInd

3. Natural methods III. Tubectomy 3. 3InFB oS IIL 8wt
el

4. Chemical methods IV. Lactational 4. ToTOODNT LTS IV. e Bemger

amenorrhea e3¢0

Select the code for the correet answer

Hem e T e Rose3riv AEosteE B0 LUgdnR) $OR

o I 1 1 - Zemvad t
4 m I v @ M 1 IV O
® M v I O , B W IV I I
© IV m 0 I (© IV m I I
M I 1 m W T 1 m I

Space for Rough Work / .05 Soz!i; z‘i;#
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25.

The following factors indicate improved
repreductive health of the society. Choose
the correct option.

1.  Better detection and cure of disease
2.  Better post-natal care

3. Medically assisted deliveries

4.. Increased MMR

Select the code for the correct answer
from the options given below :

(A) 2,3 and 4 only
(B) 1,2and 8only
(C) 1,3and4only
(D) 1,2and4 only

ABO blood type in man is an example of
1 Pleiotropy

2. Incomplete dominance
3. Co-dominance

4 Multiple allelism

Select the code for the correct answer
from the options given below :

(A) 1,2and 3 only
(B) 1,3 and4 only
(C) 3and4only

(D) 1,2and4 only

25.

26,

81 03 I3 (203) fish RABRE DwIY
es8Rer, (0BT BeX) ﬁoz;nata#;:;:é)cﬁa’oﬂt
IWAIZS QWYY  ROWCREOTEIY
SO, '

1. eudsd smpcndod =g aa’ze.{z;:)i 3B

FARTaT At RV AL

2. T[RS [0303 o0Zad BoBRR

3.  Frsecd SO0 BT

4. IR .0RF.G0. BUG

398 QeRSE  eodneen
eNZTHN ToBESTTON :
(A) 2,333 4 R03,

B) 1,233 IR,

€) 1,324 BR

D) 1,2 =334 Jn3,

SRR ABO 033 mOom  aminesd
SUTIDBORIZE

ROOSTT

1. odectdped
2. eTRHF [P
3. Azmwed

4. DT IO,

I DeRTOT  wodneos  RoosRd
HVZTT)N TOFESTTON ¢

A 1,230333 3R,

(B) 1,33343%3,

(C) 34 IR,

D) 1,2R34 IR,

Biology
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27.

The codon on mRNA are
CAU - CCU - AAA - CUG,

Identify the correct sequence of amino
acids.

(A) His - Pro-Lys ~Leu
(B) Pro-His—Lys —Leu
(C} His-Pro-Leu-Lys
(D) Pro-Leu- Lys - His

Choose the possible genotypes responsible
for lightest skin colour in human beings.

(A) AABBCC
(B) AaBbCc
(C) aabbee

(D) AABbCe

Both male and female have normal'vision
though their fathers were colour blind,

and mothers did not have any gene for
colour blindness. The probability of their

27.

RWT ST AT .. 3000 BodeInwhd
CAU - CCU - AAA - CUG.
et [ocina walyse was Aol

RS,

(A) His=Pro-Lys—Leu
(B) Pro-His —Lys— Leu
{C) His-Pro—-Leu-Lys
(D) Pro-Leu-Lys—His

TROFTY, LIURT 80 BT wegd
FOOLINT RIS S0

(A) AABBCC
(B) AaBbCe
(©)  aabbee
(D) AABbCe

nomd =P ITey, RYERS WINF, F&
BRODDTOING), @0 .ZotSedondd
I OP3 BHOOTIT]T Fone IoDedTH
Jrerogdn wommRE  RomnInesD,
RoDDHAY, TMTE & Nod>
Begoosd RIS Foned dmrodét‘mcﬂgl

daughter becoming colour blind is BoTT FOPWRCODI k> ?
[

(A) 0% @A) 0%

L) Lz (B) 15%

€C) 25% (C) 25%

(D) 50% (D) 50%

Space for Rough Work / L0 ﬂbﬁi B
Biology (12-A)

88



30.

31.

32,

Find the' nucleotide sequence of the
mRNA which codes for_ the sequence of
amino acids —

‘Met — Leu — Val — Arg — Ala’ and
choose the correct option from below :

(A) AUG-GAU -GAA-UAU-UGU
(B) AUG-GAU-GAA-CGU-GCC
(C) AUG-CUA-GUG-UAU -UGU
(D) AUG -CUA -GUG-CGU-GCC

Sickle-cell anaemia is due to the following
mutant gene : '

(A) CTC-CAC

(B) CTC-GAG
(C) CAC-GUG
(D) GAG-GUG

In the given transcription unit, identify
the regions I and II respectively.

Coding strand
3 R Iz W
1] o
Toh e sere e’ > 3'

[
: Template strand

(A) Promoter and Terminator
(B) Rho factor and Sigma factor
(C) Terminator and Promoter

(D) Operatorand Inhibitor

30. wooesp Ry

31.

82,

ROt ROBROTID
mRNA mﬁiﬁm%ﬁ

‘Met — Leu — Val — Arg — Ala’
ﬁdsﬁqi::dgl 53 FSNTYNOT SO
(A) AUG-GAU-GAA-UAU-UGU
(B) AUG-GAU-GAA-CGU-GCC
{C) AUG-CUA-GUG-UAU-UGU

(D) AUG-CUA-GUG-CGU-GCC

BT e eaResnadn sIeciedodn B3 $PNS
OIRT  THERRNS BT Q0TI
Aoz ?

(A) CTC-CAC

(B) CTC - GAG

(C) CAC-GUG

(D) GAG-GUG

8 3918 BpEithR W, XY PRI, I

=083 11 & B3N rocodr
BREBOTY TOT"
3 d [ g
|1 1)
T '3Jr

S TET T Gogiees RROT

&) FpRreao® @3 LRF e’

(B) Ong,(Rho) FE® R0 W) TF0°
(©)  waoFIens &) Jpseewo®

(D) =TBeT® I} VLW

Biology

Space for Rough Work / 083> Goﬁ% %}:’

(13-A)

89



33.

34.

Which of the following sequences of
mRNA are required for translation
Process but are not translated ?

(A) Stop codons
(B) Anticodons
(C) Sense codons

(D) UTR

Identify the palindromic sequence in the
following base sequences :
A) 5-~-CGATA-3%

00 0 L
-GCTAT-¥%

B 8§-GGATCC -3
R O A
§-CCTAGG -5

C) 5-CCTGC -%
Lo

3 -GGACG-¥%

D) ¥-GAATTG -9

I T I B B
33-CTTAAC-¥%

33. SRNYY, IR AdEsow mRNA obOB)

34,

@, Se3n  godbn Jemngde =3
DTGB SR ?

(A) deonz Jofeznd

(B) B3 ToBe3reh

(C) Rog Joge3nsd

(D) 030.88.60°.

& NS oRBRNYY T dodpcast
WROBTOTRY, TOTOSR

A §-CGATA-3
I 1
3-GCTAT-¥%

B) ¥-GGATCC-¥%
Cr

¥F-CCTAGG -5

) §-CCTGC-¥%
L)
¥F-GGACG-¥%

M 5-GAATTG-¥3
IRl |
¥y-CTTAAC-¥%

35. DNA, present in the nucleus, was named | 35. 8% 83803 DNA ofo?\igl‘ X Jevvr
e Y 20T FIOATHD
(A) James Watson and Crick (A) zgemil DUT B 88°
(B) Friedrich Miescher (B) FHEOF® WI0°
(¢) Maurice Wilkins (C) R[nd=* DO,
(D) Rosalind Franklin (D) TemdoE® To8T®
Space for Rough Work / .08 038 3¢
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36.

37.

38.

When does the lac-operon in E. coli
become “switched on” ?

(A) Repressor binds to operator
(B) RNA polymerase binds to operator

{C) Lactose is present and it binds to
the repressor

(D) Lactose is present and it binds to
RNA polymerase

The primary gases that were used by
Miller in his experiment are

(A) CH,, NHj, Hy0, H,
(B) CH,, COg. Ny, SO,
(©) CH,, COg, Ny, NH
(D) CH,, No, NHg, Hy

From which of the given plants is the
drug whose skeletal structure is given
below extracted ?

OH
A

OH

(A) Papaver somniferum
(B) Atropa belladonna
(C) Cannabis sativa

(D) Erythroxylum coca

36.

37.

38.

Q. FRCYSE, T WO’ ClIReRN A
57" ST ?

(A) OFPI0* Yo o LTOwIT*

(B) @0 .QF .0 HODOE HoE,

e3WBeI0

(€) B8R Bny e 0BFON
L0L0RTIOT

(D) NI B, BTD
RNA-ToO&00¢R R ©20t0RB00n

DO 3F JIRNEY, GVTCiRENAT
P08 BRRY 10D ‘

(A) CH,, NH,, H,0,H,
(B) CH,, COq, Ny, SOy
(C) CH,, COg, No, NH,
(D) CH,, Ny, NH,, Hy

2 T CHODPIT IR, BRoDT INTB
TERY, dOR Eaths dne AFDT
BHOIR0 NS ?

OH
Y

OH
A) oo ff@eeﬁi@u’do
B) oedgeme 2gdecs
(©) daoen’ Fes
D) oFpEco &o¥

Biology
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39.

41,

The allele frequency of ‘A’ and ‘@’ in a
population are 0-6 and 0-4 respectively.
The expected frequency of heterozygous
individuals is

(A) 48%
(B) 36%
(C) 16%
D) 24%

Identify the odd cne from the following :
(A) o-Interferon

(B) Oncogenic virus

(C) Proto-oncogenes

(D) UVrays

During replication of retrovirus

(A) Viral protein is introduced in the
host cell.

(B) Viral RNA is introduced into the
host cell.

(C) Viral DNA is introduced into the
host cell.

(D) Transcriptase enzyme is introduced
into the host cell.

89. 08D WedIoBoeT A’ DR ‘@’

41.

eodes®
SRIFT (B0 eER) Q S0BZoTN
06 TR 04 D, [OWIWT
BEICHEGNT® 26Ny &3 Tay

(A) 48%
(B) 36%
(C) 16%
D) 24%

BRIV, BROTT &3, 0IRF RIS :
(4) a-QoWT'HTT

(B) wodnewde’ SO°

(€) Lpesdoe yolpenden®

D) 030.Q. $8eansd

OO0 D FechTnOTON

(A) HOo' Tpeder 3eodd Boesk

oIS,

(B) FPO&r oU.on'.o. 0 83z
30e38 WooRORYS,

€ For Bas'o. ) edgdod
338 FOROTIZE.

(D) ERT TR
wﬁwmﬁgdagd.

Biclogy
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42. In malignant tumors, the cells divide | 42. a’i%@n‘&"o&f &3@5530‘“@@” Foesnd e
rapidly and move to distant parts of the ouuSowed s, RSB eonnon
body and cause new tumors. This -
property is called @esdmdg‘i TOBD, TR ﬁ%ﬁ@dﬁo&;

' BIRBDI 3odh, ;. NS s8I
(A) Metastasis _ g
OeSCTIEYTIO
(B) Metagenesis (A) &mm_ﬁq -
(C) Teratogenesis (B) @hdNm’
(D) Mitosis (C) &ootinendsaxs
(D) SRR

43. The breeding technique that is useful to
expose harmful recessive genes is 43. DDFPe’ 0B’ z"’eaﬁ\.‘-‘b‘,{@‘?’p LIE YOV
(A) Outbreeding WHREOTIE, RN T00S 8T CIRTTTT
(B) Artificial insemination Mgy ol

B) eSt3rdoe’ o3eansesst
(C} Inbreeding ® ® he

(C) e wedon’
(D) MOET

(D) MOET

44. Germplasm collection refers to 4. BRFETIIT Jon® 2080

(A) Collection of all alleles for all genes A Wb  agy romosnd  ag
in a crop. 200N Mo HmI0T.

(B) Collection of all alleles for few genes (B) 2PcH o) OBty ooy
in a crop. eaeens Fon,eRIds.

(C) Collection of different alleles for all (€) B8 BB Wb vy, romerand
genes in different crop plants. 23e8 WJed eadeennisd RoneRous.

(D) Collection of few alleles for all genes D) ode8 ond romorond oD
in several crop plants. aOeLONY BoN,LIODF.

Space for Rough Work / .08 fORE 2
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45,

46.

The microorganisms involved in floc
formation during sewage treatment are

(A) Anaerobic bacteria and fungus
(B) Aerobic bacteria and fungus
(C) Autotrophic bacteria and yeast

(D) Fungus and algae

Match the following bacteria of List I
with
List I :

their commercial products of

List I List IT
1. ‘ Lactobacillus I. Butyric acid
2. Aspergillus niger II. Acetic acid

3. Acetobacteraceae III. Lactic acid

4. Clostridium

IV. Citric acid
butyricum :

Select the code for the correct answer

from the options given below :

1 2 3 4
(A) I I v I
B) I v III 11
(C) 1III v II I
Dy III IV I I

45,

46.

Bo¥el  DORy  RONOROTIN  TRFNY
Boinoodd,  WDREE Agp £20
BeANTFOTT

(A)  ©FeToRE w3eo0dn TRy ST,
(B) 2BRRE wicdoin @R ddeod,
(€) R0 Fpead tREeOIRn FT2 8477
D) 2Deos, 3 FSwnsh

w0 1 0Qoha mﬁﬁwbabr{@a{a sooo II ©

e wdﬁr{@moaﬁ RHod,
emi%a:ba@ :
oo I oo II

1. epdpeemier [ i30T oy
2. STOTRYT FesO 1. SR ey
3. wridpetmsdes 1L w9l &y

4. RQIOBODTF IV, WIF el
AV feol e g

Ro8edns FmocdRon RO GVZTFa) ok :

1 2 3 4
(A) MI IT v 1
(B) 1 v 111 1I
(€) III v II I
(D) 1III v I II

Biology
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47.

49.

The technique of bombarding plant cells
with high velocity microparticles of gold
or tungsten, coated with DNA, is

(A) Microinjection
(B) Biolistic method
(C) Heat shock method

(D) By disarmed pathogen vector

Choose the bacterium which is not a
source of REN,

(A) Haemophilus influenzae
(B) Escherichia coli
(C) Agrobacterium tumefaciens

(D) Bacillus amyloliquefaciens

Silencing of a specific mRNA translation
could be achieved through

(A} Antisense RNA
(B) RNA interference technique
(C) Both(A) and (B)

(D) Micreinjection

47.

49.

R.OT.D. SR RBRIT wored  ©PR
BonTS® RRE  Frond) WY deriseon 3,
Be BeIneR B8 Brwh B.0F°.2. WIR
FeDROT NI ATNT

) BBeacige

B) wodeedae® g

(€) 263 T FE’

(D) -Ba0r e TFRuS” FIo

REN 3 Sw0olgn wmReocinms
SOERA.

(4) &Ry QD wojbozs"

(B) dFOeAR ERY

(C)  &rin TR 3e00d0 T HNT,
D) tRROT ) enIEYPeACDT,

RSV O @ Ryt mRNA
HTGSRTIF, RIS Bwews
RBRBERNIZE 2033

(A) 088 RNA

(B) RNA faowcfﬁzﬂageﬁegpf
(©) (A) IR (B) STBOOTOR
D) Wy&w, woIFT T

Biology
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50. In which of the following steps in DNA

fingerprinting technique are labelled

VNTR probes used ?
(A) During isolation of DNA
(B) During digestion of DNA by REN
(C) During electrophoresis

(D) During hybridization

51. dsRNA is used to develop pest resistant

tobacco plant by a technique called

(A) Polymerase Chain Reaction (PCR)
(B) RNA interference (RNAi)

©)

Electrophoresis

(D) Insertional Activation

The interaction hetween " “Cuckoo and
Crow” is an example for

52.

50.

51,

52,

R.00.2. WO  JozyosT i
BoITY, ROTH8VT VNTR Fpeedt, Mo
Ww¥RZTT ?

(A) B.oOFT.Q. LIy Dheeses
SRR

(B) B.OT.Q. VD), BT°.B.AF. NPT
3ZORowon

(©) oEpdederz® @nrdimont

(D) FRRBESS SPEITN

dssST®, 7.2, o:bﬁg‘ WY e Beds

JowTdd #%ddgl TBo3ne 30§gad
(4) WOTTeT® f 3§03 (&.2.690°.)
(B) &T°.0F @, OVTFOT,

(c:so*.eba‘.ea.aa.)
(C) @dﬁ%@adﬁﬁ

D) BTIIrIer Q&‘Uéﬁfc’ﬁ&"

‘et @3y Beend’od @030 B
STRIORORIZT

(A) Competition (A) TonsdRT
(B) Predation B) &dens
{C) Brood parasitism © T a‘xémﬁrmo
(D) Mutualism (D) oyB0800R0
Space for Rough Work / .88 i@ﬁ% %#
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described by the equation dt -
-JeT CRURE ﬁ@ds@ﬁcwd% DWOXTS,

20300, %) K 2RI BEOY

58. Verhulst-Pearl logistic growth is| <o dN . K—N:| 3006806y RO ETORT
L % "

%:r I—C—;{—Ii], where T and T

represent
- I S uFT TTer
(A) r - intrinsic rate of mnatural @) - 3T Py
decrease, K — carrying capacity &4, K - F,00000m ﬁmﬁw
(B} r-intringic rate of mnatural B) r- cags%;iﬁs dor e W, 2330¢F

increase, K — carrying capacit;
ok A4, K - 00000 TR

(C) r—extrinsic rate of natural
increase, K — productive capacity (©) r-oFEds S o oo

(D) r—extrinsic rate of natural iz L= SO R
decrease, K — carrying capacity (D) r- Ry S oF @523350‘
@47, K - |00 Tl

54. Net primary productivity (NPP) in an
ecosystem is

(A) GPP-R=NPP
(B) GPP +R=NPP
(C) GPP-NPP=R

54. ®WORT dﬁdﬁ@osac; NPP (Ra3¢ wpacs
eme%z:ss:s) o3
{A) GPP-R=NPP

(B) GFPFP +R=NPP
{C) GPP-NPP=R

(D) R-NPP=GPP ' (D) R-NPP=GPP
55. 31 PNIINYY, IR T dzgd%oda
58. Which among the following is nof a g,o:ha?g yonwene) ?

functional unit of the ecosystem ?
(A) QToTPATT

(B) Brtsodoes® Ao

(A) Decomposition

(B) Nutrient cycling

(C) Energy flow (C). T2 GRe

(D) Pollution (D) WOV BRI,

Space for Rough Work / 20830 ﬁvﬁi :'{ap%*
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26, Match for M and N with species-area |56, Imod® M 23 N ﬁ#dat TBredy,
relationship shown 1in the graphic N ~
representation below and choose the gﬁed'%d@ 'ﬁowoqﬂdgﬁi BREORT
PRty ROIRT sa%odv,
? M ! M
2 %
@ o
: 3
‘O N ) N
i B
A )
Area — o —>
(A) M>S=CA%Z NologS=1logC+
(A) M>S=CA%L N->logS=logC + Z log A
Zlog A A
A i B) M->S8=CZ*", N->logC=1log S +
(B) M>8=CZ"N-ologC=1logs + Zlog A
Zlog A z
(C) MS>8=CA“  N-ologS=logC+
(© M->S8=CAZ N-ologS=1egC+ Al;;Z gk =
AlogZ -
D M-o>8=A7° N-slogZA=1ogC+ D) f'gg—és =AZ",N > logZA=log C +
log 8
5%7. Belect the option from the following which ST %&)Eﬁéé’ BABRINE ﬂos@&)éeﬁﬁﬁ@m
is not a major characteristic feature of TPOSTGTRI, 1 FINS 03w 505 :
biodi ity hotspots :
; “’E““ R (A) B Roalod Beeanisd
S Ap ® cemeens
& AES "c‘l“"_ ‘°“°f i e © iR Rosdod T3 Belearisd
e o
ey D) B3R Bosod> Beedna Beeaned
(1)  Large number of exotic species -k D AL
58. The biomagnification of which pollutant 58. odnw ﬁJ?@fg To05 RoodogR) @ Botor
causes a decline in the bird population ? TOTB JESRO) FOTETNTS
(A) Mercury @) OO
(B) S0, e
(©) DDT (C) &.&8.8.
D) NO, D) Fnews® Fud =°
Space for Rough Work / L0832 '80#% i
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59. Snow blindness is caused due to 59, ARe ol OWERA, Q0w /WO

_ VOIS
(A) Global warming
(A) 5oned TTR[HS
(B) Ozone depletion .(B) tadmens BRT geeod
(C) Greenhouse effect (©) BaudozId o

D) wodnemTyNaBeas”
(D) Biomagnification 5

60. oo [ dopERnedy wwo I

60. Match the items of Column I with those of SOSRZROR Brodr, FOCINT FTTI),
Column II and choose the correct answer. fﬁoﬂ%m&.
Column I Column I o 1 oo Il
1. HepatitisB L IgA 1. BTG 0. ox8 1, IgA
vaccine
2. Preformed II. Against snake 2. _%W% II, oS IRB
antibodies venom 0832 T e tie]
3. Colostrum ITI. Neutrophils 5 PRRTESeS T ﬁ{;g@
. ' h @
4. PMNL IV. Yeast %% S A
V. Basophils 4. H.TT..2F. IV, Qe
V. theRnede®
Select the code for the correct answer ot
Srmitheoptgng el BoBedry RTCHROT 30 CUIBRER), w0k -
1 2 3 4 1 2 3 4
By 1 111 A% I ®) 1 I v I
Ol Ve Lo v © v u I v
U et MV W I
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l. G - Indicates One GRACE MARK Awarded for the Question Number.
2. Value more than four indicates multiple answers are correct.
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